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* fTt cp'1  qu  i'T 1IT '.lIII 

cl4' 31lqq)  111)TT tJ1 -cl4l sle14 Z1t f 4'I jlIL cl4' 1 i't I 

Note : English version of the instructions is printed on the back cover of this BookieL 
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GENERAL STUDIES (ito 140) / 41)q 32TZFT (i 140 r) 

1. The second most important source after fossil 1. 's)qi-i ir nc icicir ci i 
fuels contributing to Indian energy need is - m qffl 1 i 

(a) Hydropower energy 

(b) Wind energy 

(c) Nuclear energy

411UU E t — 

(b) c 

(a) 'JldIlc1 3I1 

(c) y-Ii' 

(d) Solar energy (d) *11< iii 
1i1Fci IcII31f Pltlk u1i 3ft  2. Consider the following events and arrange 2. 

these in chronological order: ct,tc'icP9Ik OC11T[ c){4: 
I. Development of sugar industry by

I. ii'cIl kI E'ñt uli 5T Icbk1 
Indians

II. Ri .4 wi  Ici i mi II. Starting of first jute mill in Rishra
III. TR.:1  .4 tr r c-iiq.i ifi. Production of steel in India for the 

first time iv. 
IV. Starting of first textile mill in Bombay 

Select the correct answer from the code given 
below: 
Code-

(a) I, II, IV 3ft III 
(a) I, II, IV and Ill

(b) IV, II, III ;3fr  i (b) IV,II,mandl
(c) II, I, Ill 3ft IV (c) H, I, ifi and IV
(d) III, II, I 3fr iv (d) IH, II, I and IV 

i1i1ci .4 ti 'i 111ci 'ii t? 3. Which of the following is not correctly 3. 
matched? 

1 514 'i' gc1ii-i Tifrft Early Medieval Present Status  
Cities of Uttar wl 

Pradesh 
(a) /c't — 31cI (a) Koil - Aligarh 

(b) c1ci 'l'1N — -iIii (b) Mahotsav - Mahoba 

Nagar (c) )q 3t — cfr-.-j).jf 
(c) Mahoday Shree Kannauj

(d) jiIcl,  ftE — cii1 (d) Jaijakbhukti Kaushambi 

4. i< * -11I1s1c1 1bI ITI1c 4. In which of the following historical 
1ei9I1 cl'1311? melas/fairs of Uttar Pradesh both Hindu and 

Muslims come?
(a) •-fl-:fl i  (a) Nauchandi Mela
(b) iin 15T c1I (b) Bavaro Baba Mela
(c) ciki T kii (c) Fuldol Mela 
(d) lc1' i5T eII (d) Bateshwar Mela 

5. Which of the following is the largest Fresh 5. 
 1rt? Water Lake of India? 

(a) Kolleru (a) i1  
(b) Wular (b) crt' ____ 
(c) Nalsarovar (c) -ltc1 
(d) Sambhar (d) T1R 
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6. Cyclone "Tauktae" was formed in which 
ocean? 
(a) Bay of Bengal 
(b) Indian Ocean 
(c) Caspian Sea 
(d) Arabian Sea 

7. Mitali Express runs between which two 
cities? 
(a) Dhaka - Guwahati 
(b) Dhaka - Chattgaon 
(c) Dhaka - Kolkata 
(d) Dhaka - New Jalpaiguri 

8. Which of the following is correct sequence of 
ecosystem in order of decreasing 
productivity? 
(a) Ocean, Lakes, Grasslands and 

Mangroves 
(b) Mangroves, Oceans, Grasslands and 

Lakes 
(c) Mangroves, Grasslands, Lakes and 

Oceans 
(d) Oceans, Mangroves, Lakes and 

Grasslands 

9. What is the 'quorum' required in the State 
Legislature to hold a meeting? 
(a) Thirty members or one tenth of total 

membership, whichever is less 
(b) One-half of the total membership of 

the House 
(c) One-fourth of the total membership 

of the House 
(d) Ten members or one tenth of the 

total members of the House, 
whichever is greater 

10. In a Sitar, which type of sound vibrations are 
produced? 
(a) Progressive and Longitudinal 
(b) Progressive and Transverse 
(c) Stationary and Longitudinal 
(d) Stationary and Transverse 

6. jç{) "cuicper tpc4IcI) f 
&F p-IT? 

'<-n< 

'c-1 

(a)  

(b)  
IJcl 

f ik1Jm 

(c)  
(d)  3T1 

7. 1ciiel 4'11 1b-i 4) 1(I 

(a)  

(b)  

- 

iwr - 
(c)  T5T - cçqç11 

(d)  T—jlc'lqI) 

8. c'-lI4cPc1I P9 cf T 

ii) *? 

(a)  '1It', L -Ii T5T Fr at) iiir 

(b)  iiii, n*i l5T 1FE 3t) 11r 

(c)  1, i i i l5T *FE, ThT 3t) '<-t ii 

(d)  'iii'< 1iir, r aft mi i 

9. i' kI'1lc1 

'rr' (ijuqj) ci 

(a) r -s--i Zff cd 1*'icii T ccfl 

I, q)9 

(b) ci *iq*icll 5T 1TU 

(c) *ic-i c i'<-i 5T cJ 

(d) 'i '1c-ft1I 5T 4'1c1i 

TI 

10. iq,  I1c1I k S1cPI'c 

(a) iii4I tf 3S?2 

(b) HI4 it &r 
(c) 3iti-1 Lc 

(d) 3111II)  I 
R-i.i cii-ii i 1l1i 1 cp  

?1tF 4)I1l' 5 t?'~ cict) t 'iiI 'ilicli 

(a)  
(b) c1 W1 

(c) T  
(d) iN WN 

11. In India, businesses with an investment upto 11. 
1 Crore and turnover upto 5 Crore are 

known as - 
(a) Tiny Enterprise 
(b) Small Enterprise 
(c) Micro Enterprise 
(d) Medium Enterprise 
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12. 1'i cj31t  1I<c cbk 

 iffTT c1i'— 

(i) 

(ii) 

(iii) 

12. Arrange the following seasons in 
Chronological order accounting to Hindu 
Calendar: 
(i) Autumn 

(ii) Summer 

(iii) Spring 

(iv) Rainy 
Select the correct answer using the code given 

below - 

(a) (ii), (iv), (iii) and (i) 

(b) (iii), (ii), (iv) and (i) 

(c) (iv), (ii), (i) and (iii) 

(d) (i), (iv), (ii) and (iii) 

13. Which of the following state started E-ration 13. 
Card Service in first time? 
(a) Gujarat 
(b) Maharashtra 
(c) Uttar Pradesh 
(d) Delhi 

14. The Disaster Management Act was passed by 14. 
the Parliament of India in - 
(a) 2001 
(b) 2005 
(c) 2009 
(d) 2013 

15. Given below are two statements, one labelled 15. 
as Assertion (A) and the other as Reason 

(R): 
Assertion (A): Dadabhai Naoroji 

organised the East India 

Association in 1866 in 
London to discuss on 

Indian questions. 
Reason (R): He wanted to influence 

the British Public 

Opinion. 
Choose the correct answer from the code 
given below: 
(a) (A) is true but (R) is false 

(b) (A) is false but (R) is true 

(c) Both (A) and (R) are true and (R) is 
the correct explanation of (A) 

(d) Both (A) and (R) are true but (R) is 
not the correct explanation of (A) 

N1c1 

(iv) cl 

tN'l — 

(a) (ii), (iv), (iii) aft (i) 

(b) (iii), (ii), (iv) 3I1 (i) 

(c) (iv), (ii), (i) 31Z (iii) 

(d) (i), (iv), (ii) 3I't (iii) 

11Rc4c1 "i'4'i 1F*i —'flN 4I  cII 

1b? 
(a) 1 'l"Ic1 

(b)  
(c) 'i' WT 
(d) 1?ce1 

c) c I I &ri 3Tlfrzp I [ç 

3IT — 

(a) 2001 
(b) 2005 
(c) 2009 
(d) 2013 

 cpI'I (R) clI 11R1T t: 

311tT(A): 1Ic t?t tR  1lt1iI 

Ir flJ11 1866 

('I 

T Icl fii 

cpuI (R): c i'iii"-t*t 

riifr P"1I •tii1 i 

3'1' T5T z1l'1 

15T WIm \31'< T 

(a)  

(b)  

(c)  

(d)  

(A) 'H  *f(R) 1IcId 

(A) Iic1 tl5 (R) Tt 

(A) 3t1 (R) cH' r* 3 (R),(A) 

(A) 3t1 (R) H'i Tt 3ft (R), (A) 
ciqiii 
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(a) Japan 
(b) China 
(c) Russia 
(d) USA 

18. How many Mahajanapadas were located in 
present day of Uttar Pradesh among the oldest 
sixteen Mahajanapadas of India? 
(a) 06 

(b) 07 
(c) 08 

(d) 09 
19.	 How two identical bulbs should be connected 

to get maximum light? 
(1) Both are connected in series 
(2) Both are connected in parallel 

Select the correct answer using the code given 
below 
Code - 
(a) In case (1) more 
(b) In case (2) more 
(c) Same in both (1) and (2) 
(d) Nothing can be said 

20. Which of the following is correctly 
matched? 
(a) Companies Act — 2013 
(b) Indian Contract Act — 1870 
(c) Partnership Act — 1932 
(d) Sale of Goods Act — 1930 

21. Which of the following is one of the 

twelve 'HRIDAY' cities chosen for holistic 

development of heritage cities? 

(a) Agra 
(b) Gaya 
(c) Pun 

(d) Warangal  

?R fTt R'lc 2019" 

i1iRci 

 Tr1 &1T0 ? 

(a) -iii's 

(b) -iIc'lI 

(c) 11ii'ti 

(d) iPI 

-Jct4Iccp I 

(a) 'iil'41'l 

(b) ti 
(c)  

(d) ____ 
18. cicl4li.-t 't"; 'rrr Ir1cl1.1 

I1c ei ibci lil.lLV fT5 ? 

(a) 06 

(b) 07 
(c) 08 

(d) 09 
19. T lcp ij  tR 3T1T 

'i1 14i? 
(1) '1'i'i 1u11 i'i 
(2) cj"f  i-ci" '1 

t4'l q1l — 

(a) (1)311f 
(b) (2)3TfT5 
(c) (1) 3ft (2) c)'I 

(d) ct  c  -ii •3Tt *1Pc11 

20. i1i1ci qi *t) *R'ici ii  t? 

(a) cp -4) 3Tffrzrr — 2013 
(b) ii<cik '-jfcj 311 — 1870 
(c) iiki'  &f1fkP1 — 1932 
(d) 1i 3r rfkN — 1930 

21. 1iRcici ctl II'Hc1 Tt 

11cpi 'l 'T' (HRIDAY) 

(a) 31TTT 

(b) it 

(c)  

(d) cli tel 

16. Which of the following state in India has 16. 

maximum number of tribal districts as per 

"India State of Forest Report 2019"? 

(a) Nagaland 

(b) Meghalaya 

(c) Mizoram 

(d) Manipur 

17. Which of the following countries is the 17. 
largest producer of fish in the world? 

T5T 
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22. Which of the following is correctly 22. 1111d cfk ]T 

matched? 
(a) Mahila Samridhi Yojana - 1993 (a) 91c'il ' 1 r liiii - 1993 

(b) Women Self-Empowerment Plan - (b) 11'lI ii{i ili - 1998 
1998

(c) 1Ic'ii 1iii's'.i 1i'ii - 1989 (c) Women Empire Plan - 1989 
(d) National Posahar Mission Plan - (d) Ir'k4 ThT i)'i -ii - 2003 

2003 
23. 31 clUI 4.Ik1I Rlcil 3i (ciiei) ct 23. How many letters of the English alphabet 

(Capitals) appear same when looked at in a iisi.i 1i ti? 
mirror? 
(a) 9 
(b) 10 
(c) 11 
(d) 12 

24. With reference to Indian Civil Services, 24. 
which of the following statement/s is/are 
correct? 
1. Government of India Act, 1919 1. 1W1 -1cPk 3TtfZN, 1919 1 

provided for a separate examination for ft ci cfl I cp 3TPT T51 

2. In the Indian Civil Service in 1941, the 

the Indian Civil Service, which was to 
be held in India.

2. iI'c ft1CI 1c1I 1941 k #i'ci14i 

1T?11TT fZff I -II, R1t I 

!1I?1Ic1  3TfPT5 2.111 percentage of Indians was more as 
compared to the Europeans. 1 'T cle I5T rd1rr C1YC T5T 

Select the correct answer using the code given 
below: 
Code -

(a) cc ç.j I (a) Only I
(b) ci'ici 2 (b) Only 2 
(c)  (c) Both 1 and 2 

(d) Neither 1 nor 2 (d) 9r1Tr2 

25. 11~.i Iit ici t ccfl *.jl*1 T 25. What was the total percentage of Central 
revenue spent on Military force in British ctj 1bci'-Ii Riici '1cii 211? 
India? 

(a) 40% (a) 40% 
(b) 45% (b) 45% 
(c) 50% (c) 50% 
(d) 55% (d) 55% 

26. fr * fT R1T t5T : 26. The Six Points Formula proposal of India for 
Ic1Icl, TRT ftr lI'1-I II S.1*cc1 ftii South Asian Region was presented by which 
ii rr? Prime Minister of India? 
(a) ii'i ff (a) Manmohan Singh 
(b) iT 1i) clI\jl (b) Atal Bihari Vajpayee 
(c) ic ::ñ- (c) Narendra Modi 
(d) -c ctl' 'iiici (d) Inder Kumar Gujral 
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27. Tulsi plant has medicinal values due to the 
presence of the following - 

27. t T 3ftTT 9v iff 
3trfPJftf cU * — 

(a) Inorganic Acid (a) 3icpi4Pct, arr 
(b) Organic Acid (b) cpi4{c, 3TT 
(c) Phenols and Flavonoids (c) 1bi'1ei ij 'j 
(d) Lithium Bicarbonate (d) tfZFf 

28. Which one of the following words cannot 28. -ii1 if q)11 T F 
written from 'TEACHERS' word? 'TEACHERS' i& -ti Ri'sii 5IT 1ct,c1I 
(a) REACH (a) REACH 
(b) CHEER (b) CHEER 
(c) SEARCH (c) SEARCH 
(d) CHAIR (d) CHAIR 

29. Which of the following schemes are related to 
the skill development? 

29. 1:::ii..i ctli iIlR cliIc'1 flcPk1 
1i1ci *? 

(1) STRIDE 
(2) STRIVE 
(3) SANKALP 
(4) SHREYAS 

Select the correct answer using the code given 
below - 
(a) (l)and(2)only 
(b) (3) and (4) only 
(c) (2), (3) and (4) only 
(d) (1), (2), (3) and (4) only 

30. Which of the following pairs is correctly 30. 
matched? 

(Crops) (Country) 
(a) Rubber - Thailand 
(b) Coffee - Mangolia 
(c) Olive - Spain 
(d) Sugarcane - Brazil 

31. A Pan-India Campaign 'Ek Pahal' launched 31. 
on September 17, 2021 was related to - 

(a) Justice delivery at doorstep 
(b) Vaccination 
(c) Swachh Bharat, Swasth Bharat 
(d) Use of Green Energy 

32. Who among the following visitors to India 32. 
did not belong to Portuguese country? 
(a) Duarte Barbosa 
(b) Domingo Paes 
(c) Peter Mundy 
(d) Fernao Nuniz 

Ci) 
(2) 't- ici 

(3) - Ct)e& 

(4) zrT 

(a) c;cIQj  (1)TIT (2) 
(b) ccicl (3) f21T  (4) 
(c) ccç.j  (2), (3) W1T (4) 
(d) cii (l),(2),(3) rT(4) 

iRi1 it cj j1ici 'ii  t? 

(4t11) (i) 

(a)  

(b) cpqI 

(c) - 

(d) - II's1Ie1 

17 R1dl1, 2021 c) fi irzji 3Tfl1T 
I -1 c  t[" fJ — 
(a) --iii w,  
(b) c!'lcpIcNuI 

(c) *cit 1TI, ?RQT TE 

(d) ñir 
i111s1c1 Cflçfl 1I1) 

cIIv1 (ci)  5T ii ir? 
(a) 34T 4I€l'1'-II 

(b) '1141 
(c)  
(d) tI5[ 
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(4) '1tcPH ycc'i 

cç, T rr cNc 'vI" T 

t4rj 4c'il - 

(a) ccc'l (1), (2) 3Th (4) 

(b) ccci (2), (3) 3fr (4) 

(c) cc'j  (2) 3ft (4) 

(d) cc1c'f (2) 3I (3) 

36. -c1 31T crç  (i3.t1t) 
fm*- 
(a) ftii,  

(b) II1c'lI, 111 

(c) ct)', ,ti1Ici 

(d) .6I11'l, 1I1' 

37. q,c) c1 , I9Tf 3ITt11  
jq 1R-ici c   

(a) ciiui11 

(b)  

(c) ct*l," 

(d) cisi 

    

T5T s1Ici4 

    

1~ic 'i"i 11c i lcci {b'il 

(a) Shuj auddaullah (a) 'iii3ieii 

(b) Asaf-ud-Daulah (b) iiicii 

(c) Raja Chet Singh (c) i-ii lci fi 
(d) Raja Maheep Narayan Singh (d) i'.ii .lkN1ul ftr 

34. Which of the following is mentioned in 34. 3ctflc, c4Iq1 c4IIIYl fk{ 
the 'Farmers Produce, Trade and Commerce 2020' 1icri 'e 'i  fT 

Bill 2020' of India? rrr 
(a) Essential Commodities (a) r 1t 

(b) Contract Farming (b) 1i 
(c) Minimum Support Price (c) -1ci1 9TfQ 1RZ 

(d) Agriculture Produce Market (d)  [qu 

Committees 
35. Which of the following king/kings was/were 35. iRiRsci f/fi ii/iI31t 

elected/chosen directly by the public? ii-lciI TT c-T 5tl j,.-ii i!ii? 

(1) Harshavardhan (I) 
(2) Gopal (2) I) ci 
(3) Yashovarman (3) c4- 
(4) Nandivarman Pallavamalla 

Select the correct answer using the code given 
below - 
Code - 
(a) Only (1), (2) and (4) 
(b) Only (2), (3) and (4) 
(c) Only (2) and (4) 
(d) Only (2) and (3) 

36. Headquarters of International Potato Centre 

(CIP) is situated in - 

(a) Lima, Peru 

(b) Shimla, India 

(c) Dakar, Senegal 

(d) Dublin, Ireland 

37. In the Kakori Conspiracy Case, the main 
accused Pt. Ram Prasad Bismil was hanged in 
which city of Uttar Pradesh? 

Varanasi 
Gorakhpur 
Kanpur 
Lucknow 
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38. Consider the following - 38. 
(1) Kalaripayattu 
(2) Thang-Ta 
(3) Mallakhamba 
(4) Gatka 

Which of the above game/s has been included 
in "Khelo India Youth Games"? 
Select the correct answer using the code given 
below - 
Code - 
(a) Only(1)and(2) 
(b) Only (2), (3) and (4) 
(c) Only (1), (3) and (4) 
(d) (1), (2), (3) and (4) 

39. Which one is odd among the following 39. 
group? 
(a) Tokyo 
(b) London 
(c) New York 
(d) Beijing 

40. How is liver affected on fasting for more than 40. 
10 days? 
(a) Glucose level in liver diminished 
(b) Glucose level in liver increases 
(c) In liver triglycerides decrease 
(d) In liver triglycerides increase 

41. Which one of the following districts of Uttar 41. 
Pradesh does not share border with Nepal? 
(a) Balarampur 
(b) Shravasti 
(c) Kushinagar 
(d) Lakhimpur Kheri 

42. Match list-I with list-TI and select the correct 42. 
answer using the code given below the lists - 

List-I List-Il 
(Folk Song) (Occasion of Singing) 

(A) Chaiti (1) Sanskargeet 
(B) Kajari (2) Braj Lokgeet 
(C) Rasia (3) Vivah and Seasonal 

geet 
(D) Sohar (4) Seasonal geet 

Code 
A B C D 

(a) 4 3 2 
(b) 3 0

4
1 2 

(c) 2 3 4 
(d) 2 1 4 3  

i1iR Ik q1i — 
(1)  
(2)  
(3) 9c'i  
(4) Ic1cPI 

" {i{ci f5Tr ii 

(a) cI.c'i (l)31t (2) 
(b) ccl (2), (3) (4) 
(c) ct' c4c1 (l),(3)3ft (4) 
(d) (1), (2), (3) 3fr (4) 

(a) cic4 ') 

(b)  
(c) .IIct 

(d) €ii1ji 
q.( 3Tfi 1?t ri  çiq, 3I1cfl1  

frER tr  ct rnr '-i.ci I 
(a) fTl f *ci cp 'iilcii t 
(b) fT?R l ect1 'ci' arfET t ¼illcll 
(c) fTr i?t IRcl't1'Is't1 0EI?l  ciIc1I 

(d) fTR lc c'iIc1I * 
iR1ci f   rki r c'i'1I i'i 

in  ci 

(a) i-i  
(b) .iicir) 

(c)  
(d) l9 t 

 1t q T crthii cfvcc '3Vt 5I 1 I '-I 

—II  
(t T1j) (41 ii-i 5T air)  

(A) (1)   flci 
(B) ct)\jl' (2) Ni f5T QI'1ct4)cl 
(C) Fi1I (3) f1cti if  fl'i4 4ci 
(D) *i' (4) )'i4) fld 

A B C D 
(a) 4 3 2 1 
(b) 3 4 1 2 

(c) 1 2 3 4 
(d) 2 1 4 3 
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A. Meerut 1. 
B. Kanpur 2. 
C. Lucknow 3. 
D. Banaras 4. 

Code: 
A B C D 

(a) 1 4 3 2 
(b) 3 1 2 4 
(c) 3 4 1 2 
(d) 2 3 4 1 

A.  
B. cpI-i 
C.  
D. 1'IN'H 

(a)  
(b)  
(c)  
(d)  

1. 1916 
2. 1905 
3. 1946 
4. 1925 

1916 
1905 
1946 
1925 

A B C D 
I 4 3 2 
3 2 4 
3 4 1 2 
2 3 4 1 

45. With reference to the Indian National 
Congress Session held at different places of 
Uttar Pradesh, match list-I with list-Il and 
select the correct answer using the code given 
below - 

List-I List-Il 
(Place) (Year)  

f )q)  3Wi 11l I::ll iI;l I d  ici4''i ii 
t cp—pi  fErI11 

(I) i. 'kI'yl-I 
(II) f. 3ir. •34t '.i~i 
(III) I. . 'jnicl 
(IV) gf• -vi-r 1i 

 {  Tft 5T 4ii ici 
c4Jj c1lL - 

(a) (IV), (II), (III) a1t (I) 
(b) (II), ([V), (I) 3:rp; (III) 
(c) (IV), (I), (II) 3it (III) 
(d) (II), (I), (IV) 3it (III) 

'iT 1 -i -t   5T, Tth 
TTr' 
\4C1 /c)c1hi rTjT 'it1< im 
1b'.i  ffi 
(a) fNiir 
(b) iiIj 

TT 
(d) Ll.l.$If 

45.   rr * ftfr iift 3iI4uIld 1I'cil1 

—II jIci c)1 1T -  1 q 

-
i ili cpc  'i) 'i ri t1j ctc)Ri - 

(T) 

43. Consider the following Governors of Reserve 43. 
Bank of India and arrange them in 
chronological order- 
(I) Dr. C. Rangarajan 
(II) Dr. I. G. Patel 
(III) Dr. D. Subbarao 
(IV) Dr. Manmohan Singh 

Select correct answer using the code given 
below- 
Code - 
(a) (IV), (II), (III) and (I) 
(b) (II), (IV), (I) and (III) 
(c) (IV), (I), (II) and (III) 
(d) (H), (I), (IV) and (III) 

44. "When was born, the earth sank two and 44. 
a half hands." 
Above statement /Folk saying is related to 
which historical personality of Uttar Pradesh? 
(a) Vidhyadhar 
(b) Mahil 
(c) Alha 
(d) Paramardi 

46. Water pollution of river is measured by - 
(a) Amount of Chlorine dissolved in 

water 
(b) Amount Of Ozone dissolved in 

water 
(c) Amount of Nitrogen dissolved in 

water 
(d) Amount of Oxygen dissolved in 

water 

46. .jcfl T ulel dUI itrr ulicil - 

(a)  

(b)  

(c)  

(d)  

1t ctRi ii iiii 

'lei 3i'1vIH c6) m,ii 

'-'lei c4 '1I'l•l q' II 

3iicrM1 1l1I 
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The percentage of work force in 
population of Uttar Pradesh 
(a)  18.5% 
(b)  23.7% 
(c)  30.2% 
(d)  31.2% 

48. Where in India, the first rubber based tyre 48. 
Metro is being built? 
(a) Ahmednagar 
(b) Surat 
(c) Vadodara 
(d) Nasik 

49. The silk produced by spiders is called 49. 
(a) Tussar silk 
(b) Gossamer silk 
(c) Munga silk 
(d) Ahimsa silk 

50. Which of the following pair/s is/are correctly 50. 
matched? 
(1) Beet - Sugar 
(2) Honey - Glucose and Fructose 
(3) Cotton - Cellulose 
(4) Milk - Lactose 

Select the correct answer using the code given 
below - 
Code - 
(a) Only (1), (2) and (3) 
(b) Only (2), (3) and (4) 
(c) Only (1), (2) and (4) 

(d) (1), (2), (3) and (4) 

51. With reference to the temple of Bhitargaon, 

Kanpur, Uttar Pradesh, which of the 
following statement/s is/are correct? 

(I) This temple was constructed during 
5th century A.D. to 6th  century A.D. 

(2) It is one of the oldest brick temples 
of India. 

Select the correct answer using the code given 
below — 

Code - 
(a) Onlyl 
(b) Only 2 
(c) Bothland2 
(d) Neither I nor 2 

MRtIc1 * — 

(a) 18.5% 
(b) 23.7% 
(c) 30.2 % 
(d) 31.2% 

, ii '€' 3TI.1Tff i1 cp  i i1 i 
5iT i 

(a) 3 1-I4t1k 

(b) u 
(c)  
(d) -iiRicp 

I'iI 'c-lIIc1 I{ PeiIc1I — 

(a) '-i 
(b) ñ'iti T1 
(c) 4ii I1 

(d) &fii ri 
1'iIiRici  4l-1 T/  
* / *? 

(1) • 1q)- - 

(2) - Jcjj 

(3) q)q -s - 
(4) T T - 

- 

(a)  

(b)  

(c)  

(d)  

(2) 

(a) cqç'f  1 

(b) cicic'i 2 

(c) 1 3ft 2 l-t 

(d) 9tt19T2 

47. total 47. 

ciclel (l),(2)IT (3) 
cjc1ç4 (2),(3)Utr (4) 

cic1c'l (I),(2)U.1T (4) 

(1), (2), (3) 1T (4) 

51. cpI1, \31" irkr far )ciiiic1 '4l * 

, 1'ld 5T9 ctl-i T/ 52TT 

(1)   I4( l5T Pi ii u i  5 t 
6?f'ic'l t T3ITI 

PRci MIT1c1{ 

- T 

- 
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52. Which of the following is correctly 

matched? 

(State) (Hot Springs) 

(a) Himanchal - Manikaran 

Pradesh 

(b) Odisha - Taptapani 

(c) Maharashtra - Vajreshwari 

(d) Gujarat - Narayani 

53. The Monoclimax Theory was propounded 

by- 

(a) F.E. Clements 

(b) C.C.Park 

(c) D.V. Ager 

(d) S.J. Gould 

54. Which Government enterprises signed MOU 

in August 2021 to invest in Uttar Pradesh 

Defence Corridor? 

(a) Bharat Earth Movers Limited 

(b) Bharat Dynamics Limited 

(c) Hindustan Copper Limited 

(d) Mishra Dhatu Nigam Limited 

55. Which of the following is correctly 

matched? 

Foreign Year/s of Tour 

Travellers to India 

(a) Fa-Hien 399-414A.D. 

(b) Hiuen-Tsang 629 - 645 A.D. 

(c) I-tsing 679 - 695 A.D. 

(d) Al-Masudi 957 A.D. 

56. Which of the following was declared as his 

successor by Guru Nanak? 

(a) Bala 

(b) Lehna 

(c) Mardana 

(d) Sri Chand  

52. iRi1ci cj 1T Rici 'i 

(i) 

(a) f1t  rr 

(b) i)1ii 

(c) 1III5 - C4\CI 

(d) 'il'Id 

53. uI-i)ctc'1lcN1 (t.ctei r 11) R-iii ii .iR1qici 

(a) Tq 

(b) iict 

(c) 3PT 

(d)  

54. \31' ii 1i q'i1' 1i cp 

3PT 2021 f9T *PcpI) w1 *iflcii 

ii'-ii 'i f? 

(a)  

(b) HT1 I {cN-I Ri{i~ 

(c) 1-ii'i q  

(d) 1F  

55 11i1c1 'i 1ici i ? 

56. iRiRsici fi lfrlc 

vi1crt) u1ci fIT -iT? 

(a) icii 

(b) eilI 

(c) 1-IcI.lI 

(d) 3?LE 

(ip ) 

cl'-cW4I 

- -Il'R1'-' 

(a)  

(b)  

(c)  

(d)  

HT  

- 3994l4t 

- 629645t 

- 679695t 

- 957t 
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57. Match list-I with list-Il and select the correct 

answer using the code given below — 

List-I List-I! 
(War) (Years) 

A. Second Anglo- 1. 1803-05 A.D. 
Mysore War 

B. Second Anglo- 2. 1780-84 A.D. 
French War 

C. Second Anglo- 3. 1878-80 A.D. 
Maratha War 

D. Second Anglo- 4. 1750-54 A.D. 
Afghan War 

Code:  

57. —I 11Ici 'u1I T1 1 
TcP91 

- 

A. Ic1 31Tf— 1. 1803-05t 

B. 1c 3—t') 2. 1780-84t 

C. Ir &fr[-11lcI 3. 1878-80t 

D. Icl1 31-3iqiii 4. 1750-.54t 

A B CD A B CD 
(a) 2 4 1 3 (a) 2 4 1 3 
(b) 3 2 4 1 (b) 3 2 4 1 
(c) 1 3 2 4 (c) 1 3 2 4 

(d) 4 2 3 1 (d) 4 2 3 1 

58. Which of the following cities in India has the 58. 
lowest percentage of slum population as per 
2011 census? 
(a) Ahmedabad (b) Jaipur 
(c) Lucknow (d) Bengaluru 

59. Arrange the following words according to 59. 
dictionary, and find the word that comes on 
just second place in dictionary? 
(a) Conclusion 
(b) Concentrate 
(c) Confidence 
(d) Count  

iIiI?sc1 -ii i IRI.I Ici4i i 
1Iic1 2011 cf ui.-PuI.-II 3iii', TFi b4-i 

- 

(a) 3i1lc (b) 
(c) eiss-i (d) ic

____ 
4l1 1  Tt m  * 

zrfQJiT c)1i' T '1 VF P'1 1Ic1 ctu1i', 
ft I 3T['1T? 

(a) Conclusion 
(b) Concentrate 
(c) Confidence 
(d) Count 

60. As per the SDG India Index and Dashboard 

2020-2 1 published by the NIT! Aayog of 
India, which one of the following state was 

not among the top ten states in their 

performance regarding Sustainable 
Development Goals? 

(a) Punjab (b) Sikkim 
(c) Uttarakhand (d) Goa 

61. "Kashi Lalima" is the variety of which of the 
following crops? 
(a) Carrot 
(b) Okra/Lady finger 
(c) Onion 
(d) Tomato  

60. -iI'cl1 * 3IT1T ii lcPIIIc1  )r1. 

1I cN1 1t 2020-21 * 

iRiRsici ct1i ii 'J's-J  TTT RlcPId 

 izi't 

i1iRci ii 

(a) 'liiIt (b) I -iIc}cP 4-{ 

(c) is (d) INt 

61. "El5T e1I11i' i1i1ci 4"Hel 
ii1 t? 

(a) ilil'< 
(b) 1t 
(c) wiiii 

(d) cI  
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62. Find out the missing number in the following 62. -iIlIci 31lck 'r 1's-n 1ici 
figure - 

5 6 12 
4 3 4 
2 3 ? 
18 27 96 

(a) 4 
(b) 5 
(c) 3 
(d) 6 

63. Which of the following is considered a 

"Hotspot" of biodiversity in India? 

(a) Aravalli Hills 

(b) Western Ghats 

(c) Eastern Ghats 

(d) Indo-Gangetic Plains 

64. The chief source of Hydrogen Suiphide 
pollutant is - 
(a) Decaying vegetation and animal 

matter 
(b) Automobiles 
(c) Oil Refineries 
(d) Thermal Power Plants 

65. In 1993, which of the following language was 

not included in the Eighth Schedule? 

(a) Maithili 
(b) Santhali 
(c) Bodo 

(d) Dogri 

66. Match list-I with list-IT and select the correct 
answer using the code given below: 

List-I List-I! 
Five Year Applied Growth Model 

Plan 
A. First 1. S. Chakravarty Model 
B. Second 2. Harrod-Domar Model 
C. Third 3. Ashok Rudra Model 
D. Fourth 4. Mahalanobis Model 

Code: 

5 6 12 
4 3 4 
2 3 ? 
18 27 96 

(a) 4 
(b) 5 
(c) 3 
(d) 6 

63. 1T1 1l1ci p  

''k *ti'k" -IIII uiicii 
(a) 31Icic') if.uI 

(b) g1t4) -1Ic 

(c) L•cj1  4I 

(d) fF_TtTlT TT 

64. Iui1 cp * — 

(a)  

(b) 3I'tt fliic'i 

(c) ki  

(d) iN 1lci I  

65. 1993 . iRi1ci 1TT 31Tt 

1i1ci ii c i? 

(a)  

(b) rQ1Tt 

(c)  

(d) i'1 

66. —J c 11—ii ii 1cii-i )1 

___ —II 
Ljt4g 4ki-n sii 1qj'-i 4i.sci  

A. -N 1. i. uii 

B. IcI) 2. k—t1R ie1 

C. rl 3. 3Tft1 'ct e1 
D. ziaf 4. ici-1i 'c'j 

A B CD A B CD 

(a) 1 3 24 (a) 1 3 2 4 

(b) 24 1 3 (b) 2 4 1 3 

(c) 3 1 2 4 (c) 3 1 2 4 

(d) 2 1 4 3 (d) 2 1 4 3• 
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67. Match list-I with list-Il and select the correct 67. —I cp') t—II *1-111d 1Ii' T1T - 
answer using the code given below - 1  T c  T I[ZPT cP'ci ') 'iri' wi 

List-I List-Il 
(Minerals) (Industries in

______ (j  
which largely q :j4.q' 'IJ  

used) 1ii  iIciI  
(A) Limestone (1) Cement (A) ii ri (1) *e 
(B) Copper	 (2) Electrical (B) ct'It.  (d:k[) (2) 1\ilc') 

goods 
(C) Bauxite (3) Aeroplane (C) €cN1Ic. (3) cii 'jIM T5T 

Manufacturing 11i1uI 
(D) Manganese (4) Steel (D) ii4li (4) -Ici 

Code — 
A B C D A B C D 

(a) 1 2 3 4 (a) 1 2 3 4 
(b)2 3 1 4 (b)2 3 1 4 
(c)4 3 2 1 (c)4 3 2 1 
(d)3 4 1 2 (d)3 4 1 2 

68. How many 3's are there in the following 68. i1iRsici Pbci 3 I 1i.ici 
sequence? Which are neither preceded by 6 c)ct- tTT 6 * 3•ft 9 1 ' 9 
nor immediately followed by 9? 
9,3,6,6,3,9,5,9,3,7,8,9, 1,6,3,9, 6,3,9 9,3,6,6,3,9,5,9,3,7,8,9,1,6,3,9, 6,3,9 
(a) Four (a) ZiI' 
(b) Three (b) cfl-t
(c) Two

(c) t 
(d) One

(d)  
69. Which of the following is not correctly 69. {iRlici c'l'i'ii ij1R'ici - *? 

matched? 
(Language) (Country) ____

c:tr) 
(a), Danish Denmark (a) sPii 111lcp 

(b) Dutch Netherland (b) 'i 

(c) Mandarin China (c) -iiR'-t 

(d) Bahasa Thailand (d) iiii 
70. Which of the following river does flow 70. iI1Ic1 ctI.-t 31' 

through the state of Uttar Pradesh? 9TII ii WIth *? 
(a) Son River (a) -I'l-i 'icfl 
(b) Hindon River (b) 1?'i 'icfl 
(c) Gandak River (c) 'Ict  
(d) Sharda River (d) ii'ci .icfl

71. In the following number series, a wrong 71. IIci *ii T5T1 k lci,  '1 iicl '-isiI t 

number is given- 
2, 6, 16, 38, 84, 168, 368, 750 2, 6, 16, 38, 84, 168, 368, 750 
The wrong number is- iii ii * — 
(a) 38 (b) 84 (a) 38 (b) 84 
(c) 168 (d) 750 (c) 168 (d) 750 
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72. 'Electricity' is related to 'wire' in the same 72. 
way as 'water' is related to- 
(a) Jug (b) River 
(c) Bottle (d) Pipe 

73. Which of the following is correctly 73. 
matched? 
(a) Primary Energy — Tidal Power 
(b) Commercial Energy — Oil and Gas 
(c) Non-Commercial Energy — Animal 

Dung 
(d) Non-Conventional Energy — Solar 

Energy 
74. Which of the following statement/s is/are 

correct with reference to Indian Railways? 
(1) Achieving 100 percent 

electrification by 2023. 
(2) A net zero carbon emission network 

by 2030. 
Select the correct answer using the code given 
below — 
Code - 
(a) Only(1) 
(b) Only (2) 
(c) Both (1) and (2) 
(d) Neither (1) nor (2) 

75. The last Subedar of Bengal, who was 75. 
appointed by Mughal Emperor - 
(a) Murshid Quli Khan 
(b) Sarfaraz Khan 
(c) Shuja-ud-Din Muhammad Khan 
(d) Alivardi Khan 

76. With reference to the cultural heritage of 76. 
Uttar Pradesh, which of the following 
statement/s is/are correct? 
(1) The oldest evidence of agriculture in 

the global context has been obtained 
from many excavated sites in this 
region. 

(2) The oldest cultivated food grains are 
barley and paddy. 

Select the correct answer using the code given 
below — 
Code - 
(a) Only 1 
(b) Only 2 
(c) Both 1 and 2 
(d) Neither 1 nor 2  

'1ci fii cTh< ttf , MctI 
Lfl' _ 

(a) 'it't (b) i 

(c) Thc'i (d) rtr 

i11 1ici 'i  *? 

(a) '3,\Jl — \ytl IfT 
(b) 1I1I11C) — ki 3 i 

(C) —i1'iRcp ii — jlI'lck'i 

(d) '.—YI4Rct,  '3j'il'  — H'' 

(a) cicic'l (I) 

(b) cc4ç'j  (2) 
(c) (1)3ft (2) -j' 

(d) l'r(l)rr(2)
___ 

'T1 lIcll l'il ilctc1 lllc'I T5T3Tfpr ki' 

1T — 

(a) I1g 
(b) 14M T 

(c) vllz1 

(d) 3c)cl4  

'31 lI i'Rict, Ii'ici k 
Pl1IRslci q  9T/ 5T 

(1) -i * 3PkZT5 3 d 

Icicp T4 
Ml'cf 

(2) MIt1Hd11I .ilci 3I   aft cm 
'I 

t'1 (lI5it.. — 

(a) cfcle1 I 

(b) cck'l 2 
1 3 2 c).1' (c)  

(d) 9tlT2 

74. ii'c cicl * i1i[ci Tft 

(1) 2023 cict jçi-4ici I cct,UI 1ZT 

iTr qii I 
(2) 2030 dcl, I ctI€-1 '.3c- 'SI'1 cct  I 

cl TcpT\31T 

t1.l — 
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77. Which of the following statement/s is/are true 

for Uttar Pradesh? 

(1) is the largest hub of sugarcane 

production in India. 

(2) is the largest milk producing state in 

India. 

(3) is the highest producer of rice in 

India. 

(a) Oniy (1) is correct 

(b) (2) and (3) are correct 

(c) (1), (2) and (3) are correct 

(d) Only (I) and (2) are correct 

77. '31'c f;p: '1I1Ic1 t t clk 

T/ IN 

(1)  1TT t I i5T 

(2)  lT1 l5T zz1ci1 T '3c.UccP 

(3)  lTf tilck'i I5T I 3ct4Icb 

(a)  tl(1)T* 

(b)  (2)3i1(3yTt 

(c)  (l),(2)3(3YTtt 

(d)  fT (1)3t (2)T * 

78 Which of the following cities was declared 78. Pl-'i[I1ci f5T cf -i 2021 

winner in "Social Aspect Category" of the tilIlci 1.ii fii WIT 2020 qç) 

India Smart Cities Awards 2020, which were "1i9I11cP 1 Ic1I -IIlcI f-fP'-Tt II 

declared in June 2021? 

(a) Tirupati (a) 1'tiRi 

(b) Bhopal (b) NTT 

(c) Jaipur (c) i' 

(d) Varanasi (d) cW,fluft 

79. Which of the following pair is not correctly 79. -'i111d i cPl-I TT H Tt j1IIci '1  

matched? 

(Country) (Capital) () 
(a) Antigua and - Saint John's (a) tftTJ3IT 3 - 'I 

Barbuda lkI 

(b) Dominica Santo Domingo - 

(c) El Salvador - San Salvador (c) 1Il - iH 'ciil' 

(d) Bahamas - Nassau (d) II9ftI - m1l 

80. Which of the following Island is known as 80. it11d   CP'l "cfl c " 

"The Land of Promise"? '-1 iiii '.iiat 

(a) Cuba (a) f1lF 

(b) Java b) 
(c) Sulawesi (c) c'ii'1 

(d) Mindanao (d) 
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'a—fl 

(1) 1980 
(2) 1986 

(3) 1981 

(4) 1974 

(A)  
(B)  

(C)  

(D)  

81. Match list-I with list-Il and select the correct 
answer using the code given below — 

List-I List-H 
(Name of the Act in (Year)  

India)  
(A) Forest Conservation (1) 1980 

Act 
(B) The Environmental (2) 1986 

Protection Act 
(C) The Air (Prevention (3) 1981 

and Control of 
Pollution) Act 

(D) The Water Pollution (4) 1974 
Control Act 

Code - 
A B C D 

(a) 3 1 4 2 
(b) 1 4 2 3 
(c) 4 3 2 1 
(d) 1 2 3 4 

82. Under which article of the Indian 82. 
Constitution, the Parliament can make laws 
on State List subject for giving effect to 
international agreements? 
(a) Article — 252 
(b) Article — 249 
(c) Article — 250 
(d) Article — 253 

83. Which one of the following book by former 83. 
RBI Governor, Bimal Jalan was published in 
July, 2021? 
(a) The Future of India 
(b) India's Politics 
(c) Emerging India 
(d) The India Story 

84. The 'Tamaria' Tribes are found in which of 84. 
the following state of India? 
(a) West Bengal 
(b) Rajasthan 
(c) Jharkhand 
(d) Madhya Pradesh 

85. What was the name of the poet, who wrote the 85. 
popular poem "Firangiya" in Bhojpuri against 
'British Colonialism'? 
(a) Manoranjan 
(b) RanjanPrasad 
(c) Triloki Singh 
(d) Rajendra Pandey 

A B C D 
(a) 3 1 4 2 
(b) 1 4 2 3 
(c) 4 3 2 1 
(d) 1 2 3 4 
1kcill F1fl c1Id, 
ci) iMl t 

1 cl*j'i ii *ctcS) t? 
(a) tc — 252 
(b) — 249 
(c) — 250 
(d) tc — 253 

3Tftt31Tt 
iRi1ci c4f *c1ct elI, 2021 

WbI1Ic1
____ (a) tqt 3itl5 1qI 

(b) 1ii i1ci 
(c) 1ii 
(d) 11l 
c1iII ii'iiiR ni iRi1i fr I'tT 
9I4Tt? 

(a) y1w-$ 1&IIc1 
(b) RTT 
(c)  
(d) TJZJ  rr 
11i q1icii' Ri IiI1 
Ic1I "1flqi" Ri& cflç  c1 5E ff TT 

(a) t-'iii 
(b) ii-i 11T 
(c) 1c'i'1c1 ft 
(d)  i'4i 
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86. 'Djibouti' Code of Conduct is related to - 86. Ii6kcl' 3!TE1T dIc1I rifi * — 
(a) Conservation of Congo basin (a) cti') of [TUT 
(b) International Maritime grouping 

(b) 'cbci' * 1ic c1 99 
against piracy 

(c) Charter of ethics (c) 1Rlcpcii f  

(d) Principles for conducting nuclear (d)   rjci 
test 

87. Niger crops is a oil seed crop. What is the 87.  ('iii1j) c *1ei cr 9HcI 

content of oil in its seeds? l* tf f cc -tii Rci-il v1 nth *? 
(a) 7 - 16% (a) 7 - 16% 
(b) 17-26% (b) 17-26% 
(c) 27 - 36% (c) 27 - 36% 
(d) 37 - 47% (d) 37 - 47% 

88. Which one of the following is different from 88. iI1Icl ct 'l.i 1i c1 

the rest of the three? 
(a) Direction (a) fTT 
(b) Compass (b)  
(c) Needle (c) 
(d) Magnet (d) 

89. Choose the odd one out from the following- 89. I1Ici li P 

(a) JR6 (a) JR6 
(b) RV3 (b) RV3 
(c) EK5 (c) EK5 
(d) DG2 (d) DG2 

90. Indonesia does not share its land boundary 90. 11l1I -'i1iIcd f5E ?i 
with which one of the following countries? iJi mii  cici I 

(a) Brunei (a) 
(b) Timor-Leste (b) 1i— 
(c) Malaysia (c) icIIiI 
(d) Papua New Guinea (d) TTE&[ 1)-11 

91. Asperthe2011 census,thecorrectascending 91. 2O11 'i'-iiiii * 31l', FIci iii1 
order of the following states in terms of i1i1ci TtI E5T 3TPZ'1 cb -1 

Scheduled Tribes population is - — 

(a) Arunachal Pradesh, Meghalaya, (a) 3i'iItie1 rki, IIIdI. 

Nagaland, Mizoram 
(b) Meghalaya, Arunachal Pradesh, (b) le1, 3IIcic.1 rkT, iIIIc')u.S, 

Nagaland, Mizoram 
(c) Arunachal Pradesh, Nagaland, (c) 3'-'iit1c'l lI1IIc, 1Icyl1, 

Meghalaya, Mizoram 
(d) Arunachal Pradesh, Mizoram, (d) rki, Isi'i-i, .wIIu,s, 

Nagaland, Meghalaya 1Ic'l 
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92. Match List-I with List-TI and select the 92. -I lE *t11-II 'jI'ici 11i'. ii -111 
correct answer using the code given below — 

List-I List-Il 
(Fruit) (Largest Producer) 

(A) Mango (1) Jammu and 
Kashmir 

(B) Litchi (2) Kerala 
(C) Coconut (3) Bihar 
(D) Apple (4) Uttar Pradesh 

Code - 

(t r) (i gi  ctuqcp) 

(A) 31T (1)  ciF 

(B) frE? (2) cj  

(C) -ii1i't (3) 1wr 
(D) A6i (4)  iki 

A B C 
(a)4 3 1 
(b)1 2 3 
(c)4 3 2 
(d)l 2 4 

D A B C D 
2 (a)4 3 1 2 
4 (b)1 2 3 4 
1 (c)4 3 2 
3 (d)l 2 4 3 

93. In which of the following year, was the 93. ifiILcici (.) * 
authority of the British established over the 
fort of Prayagraj (U.P.)? 
(a)  1790A.D. 
(b)  1792 A.D. 
(c)  1796A.D. 
(d)  1797A.D. 

94. India Urban Observatory is situated at which 94. 
one of the following place? 
(a) Dehradun 
(b) New Delhi 
(c) Chandigarh 
(d) Varanasi 

95. En the second half of l8  century, who was 95. 
often called the local representative of "Aura 
and Authority of Company Bahadur"? 
(a) Kotwal 
(b) Daroga 
(c) Amala 
(d) Landlord (Jamindar) 

96. 'Geographical Indication Tag' for black 96. 
pottery is associated with which of the 
following place in Uttar Pradesh? 
(a) Najibabad 
(b) Khurja 
(c) Nizamabad 
(d) Kasganj 

f t ff i r1r rtr ii? 

(a) 1790t 

(b) 1792t 

(c) 1796t 
(d) 1797 

¶ T'ffi7IT (e) i11 

(a) 'ii 

(b) r1e 
(c) il"tc 

(d) citu*1l 

18 cII&fl 1Ic t f5 wi: 'cl,Li.1'I 

15I qsç)  5T 1T4tZl MRIPl1 
cpI illc1I .1T? 

(a) cc1cnci 

(b) cI'JI 

3NT 
(d) i4ii 

Ri iR,cpcyt Rci.i ' 
'3Th MI Il'iI1Ici 
ttf *? 
(a) I\1611GIic4 

(b)  
(c) fill-tI61Jq 

(d) cpIjl 
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97. Consider the following events and arrange 

these in chronological order — 

I. Assassination of Curzon Wyllie 

H. Execution of Khudiram Bose 

HI. Starting of 'Kesari' newspaper by Bal 

Gangadhar Tilaic 

IV. Starting of 'Al Hilal' newspaper by 

Abul Kalam Azad 

Select the correct answer using the code given 

below: 

(a) III, II, I and IV 

(b) II, I, III and IV 

(c) I, III, IV and II 

(d) III, IV, II and I 

98. Which of the following Union Territory of 

India has the lowest sex ratio as per census 

2011? 

(a) Chandigarh 

(b) Daman and Diu 

(c) Andarnan and Nicobar Islands 

(d) Lakshadweep 

99. Which among the following states was 

awarded as the best training state for "Van 

Dhan Yojana" by the Government of India in 

August 2021? 

(a) Nagaland 

(b) Mizoram 

(c) Meghalaya 

(d) Madhya Pradesh 

100. Which of the following state of India reported 

lowest percent of urban population, as per 

2011 census? 

(a) Himachal Pradesh 

(b) Bihar 

(c) Odisha 

(d) Rajasthan  

97. iIIci c'ii31i 1 R1tii's 1ii 

iiii r1r cf)[l 

I. q.s'i cli cqi 

II. c1', I41 l•d 

III. Ici''iPR Ic'lCt i'I 

IV. 3Tf CPeiF-i 31M14 i't 3W IcIIe1 

.1j t4 T 

1cl1iL: 

98. 2011 t ul1IuIlI ri  

iii * fi cfk iiftci iciii 

1i'ii-tiici Rli 'iiicii 

(a)  

(b) ci'i i:t cj 

(c) iii.i—Picp'1n" )q 

(d)  

99. -iRiR fl5T 'cisT 3PTT 2021 

II "F1 'T ii1i * fT 
rftrTuT i\r.1 * ii1ci fi 

(a) -IIlIc1'-" 

(b) f'ii 
(c) I -iieii 

(d) ET ki 
1•  2011 * i*ii', TRT 11Rslci 

cpi-J .-I 4 I')cp'I

f I?iici cs1 fii? 

(a) 1i1Itlot rT 

(b) fTT 

(c) 3i1ii 

(d) r-ur 

(a)  

(b)  

(c)  

(d)  
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101. Consider the following events and arrange these 
in chronological order — 
(I) Launching of Community 

Development Programme (CDP) 
(II) Recommendation of Democratic 

Decentralization 
(III) Initiation of Key Village Scheme 

(KVS) 
(IV) Setting up of District Rural 

Development Agency (DRDA) at 
district level 

Select correct answer from the code given 
below - 
(a) (I), (II), (III), (IV) 
(b) (II), (I), (III), (IV) 
(c) (III), (I), (II), (IV) 
(d) (I\'), (III), (II), (I) 

102. The practice of gootee in plants is used for the 

purpose of - 

(a) Control of insects 

(b) For vegetative propagation 

(c) Germination of seeds 

(d) Weed control 

103. Which of the following is a part of 

Polynesia group of Islands? 

(a) Tonga 

(b) Tuvalu 

(c) Tahiti 

(d) Tinian 

104. With reference to the Fort William College 

Calcutta, which of the statement/s is/are 

correct? 

I. It was founded on 10th  June, 1800 A.D. 

within the Fort William Complex in 

Calcutta. 

2. The main purpose of establishing this 

college, was to teach Indian languages 

to British officers. 

Select the correct answer using the code given 
below: 
Code — 
(a) Only 1 
(b) Only 2 
(c) Both I and 2 

(d) Neither I nor 2  

101. i1iRcci .1-II3T ( llI3*) ti 11ti qfji 

3Th  ZZf?TfQIT c1)151l — 

(I) ii1c  1cpi'<i cpi1ti-i q)  

(1i.)
___ 

(II) jiici1Fct -cflci 
(III) qc) RIi lc1T1 c )3mT 

___ 
(IV) fTlT ii 1tt'i IfT5vr 

(i.t.) i 
- - 

(a) (I), (II), (III), (IV) 
(b) (II), (1), (III), (IV) 
(c) (III), (I), (II), (IV) 
(d) (IV), (III), (II), (I) 

102. tjt T Q1II'l T q)  fr 

 frr 1lciI 

(a) * 1-ui  

(b) ciii-qR'cp fr 

(c) 1?f 

(d) .1c1clI' Pi.i'i 

103. i1iRsici cp q'l1fkB i4  9J 

wr t 

(a) I'ii 

(b) ¶,cHc 

(c) dI1c) 

(d) ft&r 

104. 4c ff 4l4  ct)dcp•cfl 

152T dci 

1. ThFlT 10 i, 1800 

TtP11:11 cd J 

2. 1c -iT9T T T 

&IT5TfZft kc1i '1Tf[* fii 

a-tI 

-1)  1  'N ce T WPT cpc  'thfl 

z11 

(a) l 

(b) cictv1 2 

(c) I 32c'k' 

(d) 91lTt2 
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105. Which of the following Iron and Steel Plant is 
not located on a river side? 
(a) Bhilai 
(b) Bokaro 
(c) Jamshedpur 
(d) Bhadravati 

106. Which of the following eatables is the best 

source of all the essential amino acids? 
(a) Banana 
(b) Pulses 
(c) Egg 
(d) Fish 

107. Given below are two statements, one labelled 
as Assertion (A) and the other as 
Reason (R) - 
Assertion (A): Rabindranath Tagore 

renounced Knighthood. 
Reason (R): He wanted to participate 

in the Non-cooperation 
Movement. 

Choose the correct answer from the code 
given below - 
Code - 
(a) Both (A) and (R) are true and (R) is 

the correct explanation of (A) 
(b) Both (A) and (R) are true and (R) is 

not the correct explanation of (A) 
(c) (A) is true but (R) is false 
(d) (A) is false but (R) is true 

108. Which of the following is correctly 
matched? 

Animal Breed 

(a) Buffalo - Bhadawari 

(b) Cow - Sindhi 

(c) Goat - Jamunapari 

(d) Sheep - Tharparkar 

109. Which of the countries is signatory to the 
Abraham Accord? 
(a) Israel, Saudi Arabia, Egypt, Jordan 
(b) Israel, United Arab Emirates, Egypt 

Bahrain, Libya 
(c) Israel, United Arab Emirates, 

Bahrain 
(d) Israel, Sudan, Afghanistan, Pakistan  

105. iRi1ci cj c'1)—ici 44 - 

(a) f9T 
(b) Ect)t') 

(c)  
(d) '-titcicI 

106. if TT 
3iIct -)-t" 31Tft T icitii r 

(a) cj

(b) 411 

(c) 3TT 
(d) ic'il 

107. -1) TT 1  T' , cp ct,1 Tt (A)  

TZff * 3fr It ct'Il (R)— 

if (A): -c1IT 4 i'l' lIc  c  
ciii fii 

c4fluI (R): iThi g'lc'i'i 'TPT clii

z  

(a) (A) 3ft (R) 1i'1  3ft (R), (A) 

 cIsL4I cb'.c1I t 

(b) (A) 3(R)  <-i f 'ic (R),(A) 

(c) (A) -l'i  (R) icic1 

(d) (A) tc'Ic1 t 9'icJ(R) ) * 
108. 'i1Rci lI'i'di 'i Rici  

109. iI1Ici 
i1iiicii (Abraham Accord) * ITI'cPcI1 t? 
(a) il'lcl, -Ii4 f, iuI.i 

(b) jici, cci 3R 314Icl, Th, 
1-1, c''lki 

(c) lIe1, *ictci 3T 314Ic1, i'l'i 
(d) l"Ic1, "jii, 314 iiPi'cit'i 

I 't-cl I-I 
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110. Which of the following relation is not 
correct? 
(a) I Byte = 8 Bits 
(b) 1 Kilobyte = 1024 Bytes 
(c) 1 Gigabyte = 1024 Kilobytes 
(d) 1 Terabyte = 1024 Gigabytes 

111. Traditional Folk-drama "Bhand-Pather" is 
related to which State/Union Territories? 
(a) Jammu and Kashmir 
(b) Gujarat 
(c) Uttar Pradesh 
(d) Assam 

112. In which of the following states, the area 
under Tube-well irrigation is the highest? 
(a) UttarPradesh 
(b) Bihar 
(c) Punjab 
(d) Haryana 

113. Which of the following Indian President also 
served as Speaker of Lok Sabha? 
(a) Fakhruddin Ali Ahmad 

(b) Dr. Shankar Dayal Sharma 

(c) Dr. Zakir Husain 

(d) Neelam Sanjiva Reddy 

114. The main objective of "Sangam Yojana" is - 
(a) To increase welfare of handicapped 

person 
(b) To link rivers mutually 
(c) To make rivers pollution free 
(d) To enhance national integrity 

115. Dhoopgarh Peak is situated in which of the 
following National Parks? 
(a) Satpura National Park 
(b) Kanha National Park 
(c) Bandhavgarh National Park 
(d) Madhav National Park 

116. Which of the following is related to Brent 
Index? 
(a) Crude oil prices 
(b) Copper future prices 
(c) Gold future prices 
(d) Shipping rate Index  

110. 1l11d i 

(a) I lT =8 
(b) I  = 1024 1ic 

(c) 1 41lII€Ic = 1024 1i*i 
(d) 1 = 1024 fliiiç*i 

iii. iRcr l' cP—.1lç4 "1T—T" f 
jr1/c  i1ici kT ttft t? 
(a) —cb4 

(b) i1'Ic1 

(c) 'zi 

(d) 31P1 
112. P111 'I cll zj—~)ci Rii z 

-ii1 t? 

(a)  1TT 

(b) frT 

(c) Nii1 

(d) Riiuii 

113. IRci cti i'ci c1ct 

(a)  &41 3TT 

(b) t. 1EI5 cIlc-t 

(c) f. ii1b 

(d) 4kii *s 

114. 'i9 Iluiii" 5T * - 

(a) 11ctc'iii'i    ccii 

(b) -i['i 

(c) -iIi ct,') !,1cUI 1F cpJ 

(d) cfciI Ic1I 

115. 'Eftth 1i1sici mil 

(a) '-ic1i i1'i ii 

(b) cplI iu-i 

(c) r1.TPT i'k mi 
(d) iiTr 'I'RI 'zt1 

116. i11s 

(a) c1c 

(b) c11 c) 'ifrr 

(c) i1  flis 

(d) [i1ii 
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117. Italy launched its first "Food Mega Park" in 
India in June 2021 at which of the following 
place? 
(a) Jaipur 
(b) Fanidhar 
(c) Ludhiana 
(d) Kochi 

118. East Uttar Pradesh first Cable Car Service has 
started in which of the following district? 
(a) Etawah 
(b) Maharajganj 
(c) Jaunpur 
(d) Mirzapur 

119. Which of the following nutrient is most useful 

for enhancing oil content in mustard crop? 

(a) Calcium 

(b) Sulphur 

(c) Zinc 

(d) Iron 

120. 'DAVINCI+' and 'VERITAS' — two new 
mission announced by NASA, are related to - 
(a) Moon 
(b) Venus 
(c) Mars 
(d) Jupiter 

121. 'Jhini Jhini Bini Chadariya,' a famous Novel 
of his times is written by - 
(a) Kashi Nath Singh 
(b) NeerjaJadhav 
(c) Abdul Bismillah 
(d) Ajay Mishra 

122. In the Preamble of the Indian Constitution, 
which Justice is provided to all its citizens? 

(a) Social, Religions and Political 
(b) Social, Economic and Cultural 
(c) Social, Political and Cultural 
(d) Social, Economic and Political 

123. Which of the following Sultan appointed a 
special army to protect the boundaries of the 
empire? 
(a) iltutmish 
(b) Nasiruddin Mahmud 
(c) Balban 
(d) Alauddin Khilji  

117. 'si-i 2021 11 RT1 1tT9T 1T " 
II 4c"  -i 

(a)  
(b) tUT 

T9T 
(d) c1z 

118. t?t  
 m ? 

(a) clI 

(b) ii'.vi'ii 
(c)  
(d) Pi1 

119. qii'ii dci ki c  1II 

&rrfi iIfl *? 

(a) RI1 

(b) -i  

(c) ii*d1I 

(d) c'uli 

120. 'DAVINCI+' 3t) 'VERITAS' — iii i'i 

(a) zi'Ic 

(b) T5 
(c) iic'i 

(d) ____ 
121. &tF 1I1 T lIc1 '1I1 

cct * — 
(a)  
(b) '•;'ilI rITI 
(c) 31J 1R9I 

(d) &ciT fl3T 
122. 1kcui 4fitTF1 t M' -d1cMI 

iiiRct'i c'l cti'i rr - i-i .ivf cp ) c.1cI.1T 

(a) iisiRiq, uf i1?c  

(b) iiii1i, &rM5 r ip1c 

(c) *ii1-ii1icp, '.i RIct r  
(d) iiiitRic, 3111 I 'i1ict 

123. lIIci fI5T c1I'I   c) 

9Ii   qii1ctci 

(a) cjci1I ___ 
(b) ii11-i 
(c) ic'iii 
(d) i'l-i 1ici 
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124. Which of the following statement is 

correct? 

(a) Email - refers to Electronic mail 

(b) WWW - refers to World Wide Web 

(c) CPU - refers to Control Processing 

Unit 

(d) ALU - refers to Arithmetic Logic 

Unit 

125. In which of the following countries 99 

percent of its total energy requirement is 

obtained by Hydro-Power? 

(a) New Zealand 

(b) Switzerland 

(c) Norway 

(d) Brazil 

126. During the reign of which of the following 

Sultan of Delhi, Hindu gods and goddesses 

were worshiped in royal palaces? 

(a) Qutb-ud-din Mubarak Khilji 

(b) Nasiruddin Mahmud 

(c) Nasiruddin Khusro Shah 

(d) Alauddin Masud Shah 

127. With reference to crop rotation, which of the 

following statement is/are correct? 

(1) Deep rooted crops should be 

followed by the same type of crop. 

(2) Legume must be followed by a non-

legume. 

Select the correct answer using the code given 
below - 
Code - 

(a) Only 1 

(b) Only 2 

(c) Bothland2 

(d) Neither 1 nor 2  

124. lI?lIc1 i T cic1c4 

(a) ci— c1q, 

cPc1I 

(b) c  

T1E cp'cjI 

(c) 1t& — c.f zf 

cPc1I 

(d) Il c1 — T1ècp c'fi1jq, TJI r 
cp'.c1I 

125. 1i1ci it) ci i1 

3fIc1cPciI l5T 99 IIici Ici{cI Mi1ci '1cii

(a)  

(b)  

(c) i'i1 

(d) li')c'i 

126. 'i1Pici ec1.icl * f ,eii.i 

* II'(1'icPiei ut ci'l fq —kiurt 

(a) Ict  

(b) ii1'1-i 4j1 

(c) 'ii1i)'i ii 

(d) ic'iili 

127. 4ic't P * k 'ifIci 

 */? 

(1) TIc3 

(2) '1c'Ilci  9'i * llc Rii t 

41Q1 c4 •ciiIfl 

-fl  f  TL c  l5T [*1T cc  *)  

(a) cfc1c1 1 

(b) cc.l2 

(c) 132c1 

(d) lIT2 
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128. Consider the following events and arrange 
them is chronological order: 
I. Establishment of 'Gadar Party' by 

Lala Hardayal. 
II. Establishment of 'Servants of India 

Society' by Gopal Krishna Gokhale. 
Ill. Publication of Hicky's 'Bengal 

Gazette'. 
IV. Establishment of 'Bengal Asiatic 

Society' by Sir William Jones. 
Select the correct answer using the code given 
below: 
Code - 
(a) II, I, III and IV 
(b) III, IV, II and I 
(c) IV, III, I and II 
(d) III, IV, I and II 

129. A farmer, which has land holding between 1 
to 2 hectare is known as - 
(a) Marginal Farmer 
(b) Big Farmer 
(c) Medium Farmer 
(d) Small Farmer 

130. In secret code message, 'HOTEL' is coded as 
300, What will be the code for 'BORE' in the 
same code? 

(a) 60 

(b) 160 

(c) 140 

(d) 40 

131. Who publishes Global Climate Risk Index 
Report? 
(a) United Nations Environment 

Programme 
(b) Germanwatch 
(c) World Meteorological Organisation 
(d) World Bank 

132. Which of the following statement is not 
correct? 
(a) Human ear becomes most sensitive 

at 1000 Hz. 

(b) Human eye becomes most sensitive 
for red colour. 

(c) Persistence of hearing is 1/10 
second. 

(d) Persistence of vision is 1/16 second.  

128. Pl-l111c1 iif tR R1I< ct1i 3tl  
cpIj1I1I rrf-rj c)1i: 
I. QIIC'lI 4lQf ii 'I' tf' m 

N9TI 
II. i'lsiI i'i '*i"d 3TP 

1ii '1'l'1I'4c) 4) lTt[9TI 
III. {c1t iii ni 

IV. H'.( I{i'F-1 iI')1 lI 'lIIc'l c1!LlI1~.cP 
 iit Tq9TI 

z1.M 

(a) II, I, III 3fr IV 
(b) IH,IV,H3ftI 
(c) IV, HI, I 3ft II 
(d) III, IV, I 3ft ii 

129. 1.,cp  1b*ti'i, Rii'i '.it<i 1 2 -i' cl 'ii'ki 

lI-fl lIc1I - 

(a) l9l-c1 

(b) i E515 

(c)  

(d) eva,

130. ccp c1  ci  tI k 'HOTEL' 0't 300 
tr cj  fzii ilIc1I ctc 'BORE' 

wr ci tiI ii? 
(a) 60 

(b) 160 

(c) 140 

(d) 40 

131. 1icp 'iiilI i'l1ii izIcpIct f5f ±Il kI 
q,l1Iç frr i,ii 

(a) *Iqi:1 cJuI cti&i 

(b) i4.ii'Ii 

(c) fir frrr 1ii'i *iici 

(d) fEf  

132. iRi1ci * 'i t? 

(a) ii 5T cpl.i 1000 cu1 tR 

'i'l c1I I 

(b) t94  3 çj  

3T1I 4Il 

(c)  

(d)  
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135. IT 1c) i1i TR1T 51 i  

133. As per census 2011 of India, which one of the 
following city of Uttar Pradesh is not a 
'Million City'? 
(a) Agra 
(b) Prayagaraj 
(c) Meerut 
(d) Moradabad 

134. Which of the following is correctly 
matched? 

(Historical Melas/ (Places/Region)  
fairs of Uttar 

Pradesh)  
(a) Jal Vihar Mela - Bundelkhand 
(b) Bateshwar - Western Region 

Mela 
(c) Baldev Chhath - Purvanchal 

Mela 
(d) Shukratal Mela Muzaffar Nagar 

135. The largest source of National Income in 
India is - 
(a) Service Sector 
(b) Agriculture Sector 
(c) Industrial Sector 
(d) Trade Sector 

136. "Shabri Sankalp Abhiyan" is associated with- 
(a) To help those poor people who are 

below the poverty line 
(b) Empowerment of Women 
(c) A scheme for self help groups 
(d) National Nutrition Mission 

137. How many Squares and Triangles are there in 

the following figure? 

133. TR[ Tt i-ii°iii 2011 'l 

iRi1ci cP ii  '1l1i 

 'i  *? 
(a) 1T'TT 

(b) P.lI1kM 

(c)  

(d) II6lIc 

134. i1iRci Rici i

ii 1Thq, CPiFr/) 

(a) '4qt 

(b) ?5f* 

(c) i-iflhCt) 

(d)  

136. 'N *c-1 3Tf1F1" 5T T - 

(a) ci'1i i * -flil , icil 

'HIlc1I CP'(iI 

(b) 1i31 I5T *IPlc1cP  

(c) *cii *ttIciI *ii 1i Il'i -it 

(d) I1L1 1uj &Z1N 

137. i1Ici 31Ic1 1ci ~ iT Rlcil 

(a) 2 Squares and 16 Triangles (a) 2PtTl6fP 

(b) 2 Squares and 14 Triangles (b)  2Tf1T14fT 

(c)  3 Squares and 16 Triangles (c) 31Tl6fr 

(d) 3 Squares and 18 Triangles (d) 341T18f3T 

[RRST-01-D] Page 28 of 32 



138. Who is the author of the book "Sanskriti Ke 

Char Adhyay"? 

(a) Mahavir Prasad Dwivedi 

(b) Ramdhari Singh Dinkar 

(c) Maithili Sharan Gupt 

(d) Jaishankar Prasad 

139. Match List-I with List-Il and select the 

correct answer using the code given below —  

138. "1t 1N 3T'-1IT1 1ct, * cct' CI 

(a) 41Ic1'c 

(b) lT1Tt 1D5 11q) 

(c) tfTtR°T c1 

(d) 11ct 

139. -J cp') -ll {1c1 )1I 

 Tfl cf  15T R*T CCb 3Th 5T z4 -f 

List-I List-il 

(Soil) (State) (1g1) (rzi) 

(A) Alluvial (1) Rajasthan (A) (1) uld'i M1T1 

(B) Black (2) Uttar Pradesh (B) (2) 15T4 ri 

(C) Red (3) Maharashtra (C) QiIQ1 (3) 41NI 

(D) Desert (4) Andra Pradesh (D) 1RTtZT (4) 3iTT T 

Code 

A B C D A B C D 

(a) 1 4 3 2 (a) 1 4 3 2 

(b) 2 3 4 1 (b) 2 3 4 1 

(c) 4 2 1 3 (c) 4 2 1 3 

(d) 3 4 2 1 (d) 3 4. 2 1 

140. In which of the following year almost the 

entire area of present Uttar Pradesh was 

separated from Bengal Presidency and placed 

under Agra Presidency? 

(a) 1832 A.D. 

(b) 1833 A.D. 

(c) 1834 A.D. 

(d) 1835 A.D.  

140. IiRcci i fr cicl4ll.1 %31 F T 

lTT: IIcI 3TTT[ CP'.Cj 

31PTT *l*) T9 {1I NI? 

(a) 1832t 

(b) 1833t 

(c) 1834t 

(d) 1835 t 
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Note: English version of the instructions is printed on the back cover of this Booklet. 
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c.q 1CMU1) 
iii-1 It/GENERAL HIND! (1ftII   164 1I'l 

1. 'rIt' i frm  - 

(a) 3T* (b) 

(c) 111 (d) 

2.  

(a) 315TI (b) 3ITf151ft 

(c) 3TR15
(d) 31Tf 

3.  

(a) E5t1 

4. t i5T 11c1I —  

(a) Th1TT 

5. ___ 
(a) T5Ef (b) iEt5Tt 

(c) (d) 

6. __ 
(a)

(b) 

(c) SIc1I (d) T1E 

7. 'z'- i*1 I5T * — 

(a) c 

(c) TfT 

8. 'iRiIci ct  ThI i * — 

(a) 3T1
(b) 3TEtR 

(c) ZWtT (d) 3N 

9 

(a) 

10. c  \ lI.t;: ' — 

(a) IT?t (b) iihiI 

(c) W-T (d) '1I-1'i 

11. 9t 'T11T' T z 14Cd TT I4 1i1 — 

(a) W1FT (b) iruj. 
(c) 3ffl1 (d) iT 

12.  

3flf 

(b) de11I" 

(d) TTTJT 

(b) iftr T5ft 

(d) 3TWIt 

(b) 
(d) q.iTi4) 

(b) c)41c1IcP 

(d) *tl4 kL4c1IcHh1cP 

(b) iciJTI 
(a) cpuö1I 

(c) 11*c1 II1I (jUj C (d) Trq 3IT lT?r * I 
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13. VIILcj 141I' — T 315   Lcp  * — 
(a) VM (b) JI1ci 
(c) f.i (d) 4R1l4Ri V  

14. 'tj 5T cji) JGq — 

(a) SlCt) (b) \iCtl) 

• (c) Jt
(ci) 

15. 'tffU
ff• •* 

(a)   fItvr (b) cc  f1*iST 
(c) fu ci'i (d) yqvr cp i) 

16.  

(a) (b) u1 
(c) ctci11 (d) 'ftfit 

17.  

(a) 1TfT (b) TTtT 
(c) 4'iT (d) tTftU 

18. '1-t, .Icict ct,I fr ct ic —  
(a) V ff [

(b) .ii 
(c) ij (d) ff4 

19. '3T@ 5T tqrraf5 iq — 
(a) 3rrTfr (b) r1r 
(c) f14r (d) Th5f 

20.  

(a) g' I i (b) i  
(c) 1 -ti fT5 (d) 3ITq *TI c11I t cf cp' 

21. I1TT c1I kcP J4 — 
(a) 31T1TTFT (b) 31IIc1ct 
(c) 1cii* (d) 3ITS 

22. i1Rci t — 
(a) ftFr • (b) 
(c) ffT (d) 

23. '3T1T r  1ra lII — 
(a) ffi1T (b) 3TflT 
(c) tift (d)  

24. 1CP19*_ 
(a) 3ITtlftr — fqlr (b) ar4VuT —  
(c) JUIc1.-4 — (d) — 

(b) i' 

(d) 
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26.  

27.  ti 

(b) 

(d) 

TTE' T — 
3T?t 

(a) *i4t11.i 
1Ih11ICt) 

* -1 &k15 T1 * tC j6 

(b) 

(d) 

- 

flT (a) 
frf 

28.  'f' T y it11 * — 
(b) t1I 

(a) ct.l 

(c) rf (d) 1rr 

29.  clIL1 fj f ftT cpIcjI * I' - Ct7IQ1 

(b) 

(d) 

m1i 
(a) ilc-ti{c, 

(c) fR 1i°i ftr IPf"T 

30.  '11FlkM cilI ifi cP'')1I Ic1 t I 'c(l 

(b) 

(d) 

— 

ci-Ic1it1cP 1ll1ui 
(a) 4 iuI1Ic1lP 

cIlz4 
(c) I1cP 

31.  'f1R' T c4 — 
(b) Tfi;[ (a) scii 

(c) (d) 3FTWR 

32.  'clII1' icii1) * — 

(a) frr (b) 3TfE 

(d) &t 
(c) 3i{ld 

33 i{1ci i4 c f1 & t? 

(b) TT 
(a) liclet 

(d) (c) *c1t 

34.  'Ett i c1c1 -i i4 — 

(b) 

(d) 

ticjIP 
(a) f-4c 

ti 
(c) zlpc 

35.  '1 T 34c1 cicW1 

(a) &F 

— 

(b) cp 

(d) (c) c'I 

36.  3ITct T IG * — 

(b) 3T9I (a) W1T5 
(d) (c) 31W1  

37.  

(a) 3T1T (b) 

(d) 

FT 

fiii (c) fi 

38.  TtrzñTt — 

(b) c11lI 
(a) 

(d) {Ff?1 (c) u1i 
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39.  

40.  

41.  

is 

(b) 

(d) 

writ iq i — 

(a) 3411 

(c) 31TT9T 

cHhI-Ii 
gcç 

iRiPci Rcte-uI T ci) 

(b) 

(d)  

(b) 

— 

WR (a) ii 

(c) 
'Tñ '  15T TTT i4 * — 

(a) ñci ñc 

(c) (d) 

42.  — 'ct ' arri1 3I] ffEfJ [u 

(a) &fc1IzIcP (b) Hiiticti 

43.  

(d) 

(b) 

(c) Ict, 4cJI4c, 

fl'c bTiflIc*— 

(a) TEt elI4ci 

(c) 'TTTf (d) 19Cf) 

44.  'T1lc141*— 

(a) 3T (b) '1qi 

(c) (d) Ri 

45.  
(b) 

'iciti 5T 1c'k * — 

(a) 31T1T c,qI4I' 

(c) &'R1-T (d) 3TITT 

46.  

(a) 3PT9T 

(c) 3T1 

(b) 

(d) cli-i 

47.  't cleit 51T dc' I.cf II — 

(a) (b) 311tT 

(c) (d) 1114 

48.  ct-f hIk cileil cIct-1II I4 — 

(b) (a) ThIIi1  jv1t 

(c) (d) &1T 

49.  

(b) iIsi 

1iI1ci T'Tf Gc 

(a) 1cicII'1 

(c) r1-tI (d) 31i'ft9!'-1 

50.  1rN1c 3IT1T f 'C1c1 'cP * — 

(a) 3iiilcc1 (b) 311cLlI1Ic1 

(c) 3iIIIIc1 (d) -IIII 

51.  rt?t cjjejl t& — 

(a) 3r1E (b) &-119 

(c) 311;1 (d) &FI[ 

[RRST-02-B] Page 5 of 8 



52.  

(a) ;f9 (b) 1rur 
(c) TT (d) qi 

53. i1t1  W?i 4 cic — 

(a) ?t4 (b) 
(c) [9T (d) fPFr 

54. R1ci 4 fr i 1icnt — 

(a) c'ii (b) 3TR9T 

(c) 3fEtT (d) 3TE1fT 

55. cp WPT 4 11ui 3T t, 1E * — 

(a) 

(c) c'f'cPI 

56. lI1Ic1 4 cici — 

(a) 1fl[ (b) .4cJ 

(c) '-k (d) Ic1 

57. T*- 

(a) 1c1I (b) 3rf5T 

(c) f (d) 

58. *,*— 

(a) ' lel 4 Mlc1:ctlel T ZI  11 t jIcMI ')c1I T I 
(b) ii   1t *i 

(c) ',i'- 'i '(1 4Ic1 TR 31IY1k1 fl5  

(d) cl9II 4 ici i4 

59.   — 

(a) y'r4q (b) cictpificp 

(c) Ml11IfIc (d) )1cb 

60. 1iic Ic1c1I Ecij 'ilI iI — 
(a) 11ui (b) 
(c) 1clI11 (d) 11icp 
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U 3i I '-1 q tETUT Ic1 c1 I el 1 P I vu I 

 RRMT-51 2021 

1i: *I1I'  3TZ[ZF1 

1111 : 2 uui1cp : 120 

&T 31P9i4'  1TFH * 3TI 1 

f r  q'-ff i rthi q, 
—'i* R i t N111tq tr I 

31TtT &'Ik r4  cjj  R I  TF 3Jc1  ei  fttTI5 T5T  I 

iuui 3F 

1.  

2. R—tT5 aTTIT jP9I, f, -'r i iiu i 

3.  

t I 

4.  

Tth1TI 

5.  

6.  
*f)'UI Tit 'I'ii I 

7 ii*lr: 
1—t15 II I Iici Ri n'ui 

(i) TR '31 ti 3cclI II l T1 5 Icld 1' 19 

lkzl?r f5 T1  3 ti-f ctii uii'ii I 

(ii) q 4 c1I t 3T1 '3t1'( c1I *, 1IQ1c1 3R  ITIT ilRlF, id f rt 31'1 5 '1' 

ii , f fii  c1 1RII I 

(iii) -41ii Ii Tf f I1T iir T1t 4cn II 3l' t1 fii lIdI t, t '1 9 

 ;i•g   'JIIII I 

q u Rcicti 'ei 5'1 1 'i 1t 1i f ' I  

Note: English version of the instructions is printed on the back cover of this Booklet. 
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1. During his annexation of Afghanistan, who 1. 3111 ?4 '194 l4' 

invited Babur to invade India? tf 3jp4-U ctv fit.i 14iui 
{i u? 

(a) Ustad Au (a) \z*ciIc 3T 

(b) Mustafa (b) 
(c) DaulatKhan (c) 4leicl siii 
(d) HasanKhan

(d) i'i if 

2. Who is the author of the book "Death in 2. t%T r iii'i isq ck ? 

Banaras"? 

(a) Meena Kaushik (a) 41-ti ci)[lcp 

(b) Jonathan Parry (b) i?9T1iT1 

(c) B.D. Tripathi (c) Itic) 

(d) Ron Barrett (d) k 1e 

3. Which one of the following pairs is p 3. 1IlIc1 1-iI ci1i '.cP *I,tci 

correctly matched? l *2 

(a) Bleaching 

powder 

- Calcium 

oxychloride 
(a) 

(b) Plaster of Paris - Calcium 

bicarbonate 
(b)  

(c)  Washing Powder - Sodium 

carbonate (c) 

(d) Baking Soda Sodium 

bicarbonate 

(d) 

lists — 
List-I List-I! 

(Provinces of 
Australia) 

(Capital 
city) 

A New South Wales 1 Brisbane 
B Queensland 2 Sydney 
C Victona 3 Perth 
D Western Australia 4 Melbourne 

i — cMiN tI 

ctc'li'<i 

-ii* 3Wl —  

ftJ 

ci'uI1i 9ii — -i'1IFl-1 cP161 

1'ui ?1T —  

icpi11c 

4. Match List-I with List-il and select the 4. t Iici 1Rii uir 
correct answer using the code given below the *ii'i * 4ui1 I  ip cp 

— 

tii4)_I *41-ii 
(aIfiqi * rkr) (iTiTr4 

A i 1.i 
B tc'ilis 2 41 
C c'Ri 3 tf2 

D R41 ai1qi 4 c'i'I'i 
Code- 

A B C D 
(a) 1 2 3 4 
(b) 1 2 4 3 
(c) 2 1 4 3 
(d) 2 1 3 4 

A B C D 
(a) 1 2 3 4 
(b) 1 2 4 3 
(c) 2 1 4 3 
(d) 2 1 3 4 
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5. Match List-I with List-Il and select the 
correct answer using the code given below the 
lists — 

5. 

List-I 
(Organisation) 

List-il 
(Establishment 

year) 
A. Lalit Kala 

Academy 
1. 1954 

B. Sangeet Natak 
Academy 

2. 1952 

C. National 
School of 
Drama 

3. 1959 

D. Centre for 
Cultural 
Resources and 
Training 

4. 1979 

(*iiic.i) (e.Trq9T *) 

A. 1. 1954 Iici cpell 

31cl,Ic 4 i1 

B. 2. 1952 iflci iit,  

3cllc41 

C. 3. 1959 i'q '11c4 

D. 4. 1979 

MIl0 I cc 

Code 

A B C D A B C D 

(a) 1 2 3 4 (a) 1 2 3 4 

(b) 2 4 1 3 (b) 2 4 1 3 

(c) 4 3 2 1 (c) 4 3 2 1 

(d) 3 2 4 1 (d) 3 2 4 1 

6. Which of the following Tiger Reserves isjt 6. i1iR.cici lI1 3PZ1TT (cITh fv-t) 4 
situated in Madhya Pradesh? ci—iT irki 4 f ii  
(a) Amangarh (a) 3fflt'l 

(b) Bandhavgarh (b) [iTEPT 
(c) Kanha (c) cp- 
(d) Sanjay-Dubri (d) sW—t 

7. Whichoneofthefollowingcoalbasedpower 7. I iIiRlci 4 ctk TF cP'Ic'lt 3I1Tffr 
plant is situated in Uttar Pradesh? i'1l i.ii i<wi 4 fT t? 
1 Darlipali 1 iic1 
2 Dadn 2 -r1 
3 Singrauli 3 
4 Vindhyachal 4 

Selectthecorrectanswerusingthecodegiven   - , — 
below — 
Code- 
(a) land3 

(b) 2and3 

(c) 2and4 

(d) 3and4 
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8. Which of the following is correctly 8. 1Ic1 c1 'I'T }Rici ii t? 

matched? 

(Animal) (Breed) 

(a) Cow - Deoni 

(b) Goat - Barban 

(c) Buffalo - Bhadawari 

(d) Sheep - Gir 

9. Match List-I with List-H and select the 
correct answer from the code given below the 
lists— 

List-I 
(Books) 

List-H 
(Author) 

A. Ras 
Panchadhyayi 

1. Vnndayan 

Das 
B. Chaitanya 

Bhagvata 

2. Jayananda 

C. Chaitanya 
Mangal 

3. Nand Das 

D. Bhakti Ratnakara 4. Narahari 

Cakravarti 

Code- 

9. —I —II 1i IT 

 ctS1RI — 

(i) (q,) 

A. 1. 'ti t1T cli cI'1 

B. 2. c1-cl '1IIlc1 J1.l-14I 

C. 3. c1 - i 141e1 F I'1 

D. 4. TfM ', c'iict 'iR cpc1ci1 

(a)  

(b)  

(c)  

(d)  

A B C D A B C D 
(a) 3 4 2 1 (a) 3 4 2 1 
(b) 2 3 4 1 (b) 2 3 4 1 
(c)  
(d)  

3 
4 

1 
3 

2 
1 

4 
2 

(c)  
(d)  

3 

4 
1 

3 
2 

1 
4 
2 

10. Which one of the following groups of diet 

provides maximum energy to human body? 

(a) Fat, Protein, Vitamin 

(b) Vitamin, Mineral, Water 

(c) Carbohydrate, Fat, Protein 

(d) Carbohydrate, Protein, Vitamin 

11. Who among the following Indian leaders 

participated in all the three round table 

conferences? 

(a) Mahatama Gandhi 

(b) B.S.Munje 

(c) Dr. B. R. Ambedakar 

(d) C.Y. Chintamani  

10. 1R11slc1 q'k—iT '1TT T9 14 * 

w r 1 wqii cP'c1I 

(a) cl'1I. !.Ikl'1, IcifH 

(b) CICWI, 3jQj 

(c) cpIIc, ci*ii, i'1c-i 

(d) 1ciflH 

ii. 1t?f i'kii A.-ii T'F  cli ii'c.i 
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12. Which one of the following countries is 

situated along the coast of Baltic Sea? 

13. Which of the following state had won 

maximum number of medals in India skills 

2021 competition, the result of which was 

declared by Government of India in January 

2022? 

(a) Gujarat 

(b) Maharashtra 

(c) Kerala 

(d) Odisha 

14. With reference to the 'Trishul Peak in 

Himalayas', which of the following 

statements is/are correct? 

(1) It is situated in Bageshwar district of 

Uttarakhand. 

(2) The peak is more than 7500 m high. 

Select the correct answer from the code given 

below — 

Code - 

(a) Only I 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

15. Which one of the following is a 

sub-category of terrestrial ecosystem? 

(a) Mountain ecosystem 

(b) Marine ecosystem 

(C) Lowland ecosystem 

(d) Semi-arid ecosystem  

12. I1RcK1 l c -f 'i 

kk 

u 

13. iIiIèici Pbi 'i'4 11f I'I 

2021 1'II1c1I 16l'1 aTfI 4c  'iIIc 2T 

fcpj 4Ruui.j 1TE NI -icil 2022 

-Mci frziTiTzii? 

(a) iil'Ic1 

(b) iiç 

(c) c  

(d) 1ii 

14. '19IeW F1C'I 1I'SIC * 

qj T/ 5TT  

(1) z € ilc 1[I 

ftir ti 

(2)  

(a) T1 

(b) T2 

(c) q'1'i'i 1ft2 

(d) 9lT2 

15. 1i1 1T qTff-Tf 

-i  *? 

(a) 4'lcl tIT Tffl5 o•  

(b) iiii'k4 ITT1 

(c) FP-i T4T mffTfr 

(d) 3Tt—  tiiffTRmr 

(a) Latvia and Poland (a) e1Ic11lI 3ft 

(b) Latvia and Russia (b)  clIc1III ;3 

(c)  Sweden and Russia (c) 
(d) Sweden and Norway (d) *cS'1 3t 
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16. With reference to India's Third National 
Water Awards declared in January 2022, 
which of the following statements is/are 
correct? 

(1) Uttar Pradesh was declared winner in 
the 'Best State Category'. 

(2) Muzaffarnagar in Uttar Pradesh was 
declared as the best district in 'North 
Zone Category'. 

Select the correct answer using the code given 
below - 
Code- 
(a) Only 1 
(b) Only 2 
(c) Both 1 and 2 
(d) Neither 1 nor 2 

17. Part IX — A of the Constitution of India gave 

a constitutional foundation to the Local Self 

Government units in the following areas - 

1. Ruralareas 

2. Urban areas 

Select the correct answer from the code given 
below the lists 

Code- 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

18. Which one of the following is a bio-diesel 
plant? 

(a) Jatropha 

(b) Java Grass 

(c) Rosha Grass 

(d) Guggul 

16. jllc1') 2022 1'Ilc1 1TE ''l4 

vtd b1 k rfr 
1T/ Fi t/? 

(1) 1Mi t  uf 

IIcii -i)Ilci f5IT t1i I 

(2) ii *  cp') '3'9 

fijrr 11 fi 
iii I 

(a) c1ei 1 

(b) *Err2 

(c) 1'1l3t12 

(d) 1aflrr2 
17. TIX-A,i1 

cri i -i-i ctcl ii'f f5t 

- 

1.  

2.  

- 1  Tt    T i 1: 

(a) c1cIef 1 

(b) cicic1 2 

(c) i'il3ft2 

(d) l3fr1r2 

18. ifi1 qi—i  1T *? 

19. Mandsaur — Prashasti presents the details of 19. — wif fr ii'iq' 
the achievements of which ruler? 1ci i'tcc1 c'çjj 

(a) Skandagupta (a) *-qc1 

(b) Chandragupta — II (b) frc1 — II 

(c) Ramagupta (c) 'w1'ct 

(d) Kumaragupta — I (d) c1I'[lc1 — I 
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20. With reference to 'Parvati Arga' Ramsar site, 20. 

which of the following statements is/are 

correct? 

T1 1t 

11/ I5T[ 

"4icII 3T1T1' I9'1' 

iRsci 

(1) It is situated in Gonda district of (1) I')U,I fnr 

Uttar Pradesh 

(2) It is a bird sanctuary. 

selectthecorrectanswerusingthecodegiVefl 

below - 

(2)   cpt3plTUZ[tl 

, 

Code - 

(a) Only 1 
(a) ?ff 

(b) Only 2 
(b) f2 

(c) Both land2 

(d) Neither 1 nor 2 

(c)  

(d)  

'li'i laft2 

1 ai 91 2 

21. The first Krishi Vigyan Kendra was 21. 1974 IT1 1ii'i cç t 1TtFiT 

established in 1974 at which of the following i1iRsici fl mr w 

place? 

(a) Chandigarh (a) u'ti 

(b) Nagpur (b) '1II' 

(c) Hyderabad (c) iIic 

(d) Pondicherry (d) i1I' 

22. Uttar Pradesh has secured which place in 22. -citk~ 1TT 2021 \1< cP'1.ttll 

Swachh Survekshan, 2021? -pr 1I'c1 f5iT i? 

(a) Fourth (a) '4Wr 

(b) Third (b) cIid'i 

(c) Sixth (c) tcl 

(d) None of the above (d) 1c1 c1 'i 

23. Which one of the following river basin is the 23. 1IiIc1 c'1 i4) i) (ftFr) 

largest in area? ) t? 

(a) Kaveri (a) cp 

(b) Mahanadi (b) i ifl 

(c) Narmada (c) 9T 

(d) Tapti (d) i1 
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24. Match list-I with list-Il and select the correct 24. 
answer from the code given below the 
lists — 

List-I List-I! 
(Name of (Area of 
Scientist) work) 

A Birbal Sahni 1 Green 
Revolution 

B K.C. Mehta 2 Embryology 
C P. Maheshwari 3 Paleobotany 
D M.S. Swaniinathan 4 Plant 

pathology 
Code - 

1 t— ii 'tj1Iic1 ctlRjii T.1T 
c3c1m 

z- — 

(hi1 r r1r) 
A lei *ij-11 1 
B ltIT 2 
C 4t. ci 3 

D tT. *cI4l'1TT1 4 

A B C D 
(a) 2 3 4 
(b) 3 4 2 
(c) 2 1 3 4 
(d) 4 3 2 

25. 'Uttar Pradesh Diversified Agriculture 

Support Project' (UP DASP) was sponsored 

in Uttar Pradesh by - 

(a) Government of Uttar Pradesh 

(b) Central Government 

(c) World Bank 

(d) None of the above 

26. 'Krishak Samridhi Aayog' was established in 

Uttar Pradesh in which of the following year? 

(a) 2016 

(b) 2017 

(c) 2018 

(d) None of the above 

27. With reference to Sher Shah Sun, which of 
the following statements is/are correct? 
1. He was the architect of a brilliant 

administrative system. 
2. However his qualities as a ruler were 

not more remarkable than his victories 
on the field of battle. 

Select the correct answer from the code given 
below - 
Code - 
(a) Only 1 
(b) Only 2 
(c) Both 1 and 2 
(d) Neither I nor 2  

A B C D 
(a) 1 2 3 4 
(b) 3 4 2 1 
(c) 2 1 3 4 
(d) 4 3 2 1 

25. im ki i< rki c,fi f°i 

iR4iii' (rt wr)  c) — 

(a) '3cl TT H'cbk kI 

(b) *1'4J' I'<I 

(c) fJ q,  

(d) 3gq1 f 

26. i'< f 3flftTr fl uqTr 

(a) 2016 

(b) 2017 

(c) 2018 

(d) 3yctj cP 'i 

27. ii  T4 k i1Ri 
T-Tf *i) */*? 

1. c4 L,cp IJ.lI' 4II*1I1cP &TRT[ * 
1c1l l 

2. Ie1II Lcl,  IN1q) 3_9 TFT, 

l l 

 5TzM 

(a) i1e1 1 
(b) ct'c1el 2 
(c) l3fr2 q'l.i' 
(d) rrl1rrt2 

[51-B] Page8of32 II 1111 IIIIIII II IIIIIIJIIIIIII 



28. At which one of the following places was 

India's first 'Open Rock Museum' 

inaugurated in January 2022? 

(a) Dehradun 

(b) Nanital 

(c) Hyderabad 

(d) Mount Abu 

29. Who built the mosque "Qila-E-Kuhna" inside 

Purana Qua of Delhi? 

(a) Humayun 

(b) Sher Shah 

(c) Akbar 

(d) Shah Jahan 

30. As per the 'India State of Forest Report 
2021', how many states/union territories have 
over 33% of their geographical area under 

forest? 

(a) 07 (b) 13 

(c) 17 (d) 23 

31. Who among the following athletes was 

declared 'Athlete of the year 2021' by the 

Time Magazine in December 2021?  

28. micI' 2022 iRiPci fli iT 

'3ltr 'tii I c'jV 15T 

qii fu ip? 

(a)  

(b)  

(c)  

(d) I1I%; 3IT
_____ 

29. 
T-1:—c.lI" 45T 1 411UI 1i'l frzii i? 

(a) 

(b) 1'II 

(d) iIiI 

30. fii e ai'ftTr qI*e ftT 2021' 

31','dI'<, f& ir/cik III -Ic1 cit 

3'1c 1 I11c) ir 33% 3T15 49c-1 

F1 itTI[ t? 

(a) 07 (b) 13 

(c) 17 (d) 23 

31. 1i< 2021 1iRsici fl5T if 

if1cpI kI 31Ttl5 2021' 1'lIc1 

fi rT? 

(a) Caeleb Dressel 

(b) Lewis Hamilton 

(c) Neeraj Chopra 

(d) Simone Biles 

32. Consider the following events and arrange 32. 

them into chronological order - 

(a)  

(b)  

(c)  

(d)  

f 1le1 

4Rr tj)ij 

Ri4I'i Ie"1 

R'i1ci III3f tR f'El1 C[I 1T '-i 

IE[fT1 tcfii — 

(1) Establishment of NABARD (1) -II4I iT WPT9T 

(2) Bank linkage programme of self help 

group 
(2)  'qLf "1RIcii 15T )cP I1ci4 

cpRcl,14 
(3)  Kisan Credit Card Yojana (3) 1'tii'i cM CPI -il'Jl'li 

(4) Establishment of Regional Rural (4) k1trj ii4lui cI, T1tFlT 

Bank 

Code - 
(a) (4),(l),(2)3ft (3) 

(a) (4), (1), (2) and (3) 
(b) (4), (2), (3) aTh (I) 

(b)  (4), (2), (3) and (1) 

(c)  (1), (2), (3) and (4) 
(c) (1), (2), (3) 3fr(4) 

(d) (4), (3), (2) and (I) (d) (4),(3),(2)3t(l) 
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33. With reference to the India's National Youth 33. 
Festival organised in January 2022, which of 
the following statements is/are correct? 
(1) This was 20th edition of the National 

Youth Festival. 
(2) It was organised at Pondicherry. 

Select the correct answer using the code given 
below - 
Code - 

(a) Only 1 
(b) Only 2 
(c) Both 1 and 2 
(d) Neither I nor 2 

34. Government of India has passed 'Protection 34. 
of Plant Varieties and Farmers Right Act' in 
which of the following year? 
(a) 2001 
(b) 2005 
(c) 2015 
(d) None of the above 

35. Which one of the following city was not 35. 
among the top three positions in the 
Sustainable Development Goal Urban Index 
and Dashboard 2021-22 declared by the NITI 
Aayog in November 2021? 
(a) Coimbatore 
(b) Chandigarh 
(c) Indore 

(d) Shimla 

36. The National Development Council was 36. 
formed in the year - 
(a) 1950 
(b) 1952 
(c) 1954 
(d) None of the above 

37. The headquarter of Small Industries 37. 

Development Bank of India (SIDBI) is 

located at which one of the following place? 

(a) Kanpur 

(b) Lucknow 

(c) Ghaziabad 

(d) None of the above  

ji.ici'1 2022 * 'i'lq qi 
th'k1cl g•1 k fifc1 t1-t T/ 

Ti i) /? 
(I) z i i'kii T 20 

*Nl, UI TII 
(2) ictI a1Il-1 fii iizrr 

TI 
4f  T cle T5T w-i -i 

(a) *[ET1 
(b) cicici 2 
(c) c'Hl3t2 
(d) lrr2 

1cPI'( '3.j1~ctN1 '31Tt15 k1ic ll)4 

'i afrrr 11I.;lc1 
tflj fzrr? 

(a) 2001 
(b) 2005 
(c) 2015 
(d)  

1C14' 2021 -ff ITth'-r i'i I)Ii *cici 
fT T1 i% t4c)  31 
2021-22 1Ici c4).1 1T   1k1 
d)-i rr ii1 .ii u? 
(a) ilc( 

(b) 4i 

(c)  

(d) iI9c1I 

It14 1cpi.i 14R1c 15T Ic1  

TI 

(a) 1950. 

(b) 1952t 

(c) 1954t 
(d)  

-Hc1 d 'zWI( fii Icl) (ft.4)) 
IT i11 f ir ftiu 

(a) ii' 

(b)  

(c) liii lEIc 

(d)  
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38. 'Ringelmann Scale' is used to measure the 38. '1c-t'i T dPT Ilc1 i-Icl 

density of the following - )cii — 

(a) fog (a) I 

(b) noise (b)  ifi 
(c)  polluted water (c) icjci '1el 

(d) smoke (d) 31T 

39. With reference to a book, the following 39.  IcII1 * k l -'111d Ml 1 

information's are given - — 

(1) Introduction (1)  wciii-ii 

(2) Contents (2)  1li ?i 
(3)  Chapters (3) 3T2T1RT 
(4) Index 

Title 
(4) 

(5) (5) 
Select the correct logical arrangement from 4)-c 1 '(1'T clii Ct,  ZlR.1T 5T 
the code given below: _____ 
Code— — 
(a) l.3,5,2and4 

(b) 2,4, 1, 5 and 3 (a) 1, 3,5 2 3t) 4 

b) 2,4,l,533 
(c) 5,2,l,3and4 

(c) 5,2,l,334 
(d) 3.5. 1,4 and 2 (d) 3,5,l,43fr2 

40. WhichoneofthefollowingScheduledTribeS 40. I -1I1Ic1 ?i 'ii'iiii1 
is not found in Varanasi district of Uttar ci'ii cii.iui-1  ff i 'i 1.ii iid  t? 
Pradesh? (a) '1') 

(a) Chero (b) ui 

(b) Gond (c) si'cll' 

(c) Kharwar (d)  
(d) Sahariya 

41. River Ganga enters in Uttar Pradesh from 41. TPTI '31 

which district? rt ? 

(a) Bijnor (a) 1t4
(b) Meerut (b) ci 

(c) Saharanpur (c) *I''-I 

(d) J.P. Nagar (d) 

42. The Provision of a joint sitting of both the 42. f1ft1TT iR'u1sici afrrfi 4jq 

Houses of Parliament is mentioned in the c'1 -1' i * &fR T T19 

Constitution under the following Article - — 

(a) 100 (a) 100 

(b) 108 (b) 108 

(C) 110 (c) 110 

(d) Noneoftheabove (d) d'qi1 c .j 
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43. Who among the following was jj a great 

entity in the field of Hindustani music? 

(a) Raja Mansingh Tonar 

(b) Tansen 

(c) Sadarang — Adarang 

(d) Mal Guiiari  

43. iI1cj c  

ii'i -t  ai? 

(a) i'iii 1T[9ftj ci'I-i' 

(b) c1l-t1 

(c) 1ci'i — 

(d) 1lc'i 

ifRsici t) 44. The Provision of three legislative lists is 44. 
found in the following Schedule of the 
Constitution - 

'flT * 4fTT 

(a) VI (a) VI 

(b) VII (b) VII 

(ci VIII (c) VIII 

(d) None of the above (d) 

45. Who was not the initial member of the 45. 1926 1TfJT •I'kjicii;i r' r IFIC *'4 

'Naujawan Sabha' formed in 1926? q  ii -ii? 

(a) Ambika Chakravarti (a) 1q-r t1cpc1cl 

(b) Yashpal (b) 'lI1 Ic'I 

(c) Bhagat Singh
(c) Ii1 -i5 

(d) Chhabil Das
(d) te1 cmi 

46. With reference to 'EASE-index', which of 46. Il1c1I Itc*i * i4 

the following statements is/are correct? 

(1) It is a way to measure the 

performance of the Public Sector 

Bank. 

(2) It measures the ease of doing 

business for MSMEs in India. 

Select the correct answer using the code given 

below - 

Code- 

(a) Only 1 

(b) Only 2 

(c) Both I and 2 

(d) Neither 1 nor 2 

(a) fET I 

(b) c ç4 2 

(c) il3I2 

(d) ftl3ft9T2 

______ _____ 
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47. Which vitamin is soluble in water? 

(a) Vitamin 'A' 

(b) Vitamin 'B' 

(c) Vitamin 'C' 

(d) Vitamin 'D' 

48. Which one among the following is measured 

by Dobson unit? 

(a) Ozone concentration 

(b) Thermal conductivity 

(c) Soil moisture 

(d) Radiation 

49. Who among the following was the President 

of the 'All India Trade Union Congress' in 

1929? 

(a) M.N.Roy 

(b) Jayaprakash Narayan 

(c) Jawaharlal Nehru 

(d) S.A.Dange  

47. ct'i—f 1ei1H iei jci1e1 t? 

(a) f1i1H 'A' 

(b) 1i1H 'B' 

(c) fleifl-i 'C' 

(d) 1k1-i 'D' 

48. .ii'i'i i1iR;ici l ctI 11141 

ulicil 

(a) 3tñf 1I'-cc1I 

(b) th'1 tklc,c1I 

(c) i .i4) 

(d) flfi 

49. iIi1lici cf1 1929 '3TfT 11Tc 

1i cI, j1' ? 

(a) f. . I 

(b) ulltll lIW.lI 

(c) le1Ic'i 

(d) '*1. i:.  qil 

50. Lake Balkhash is situated in which one of the 50. uecpll 1[ -1f1I5Ic1 ti'l 1b't-1 

following countries? fi *? 

(a) Kazakhstan (a) qulII'tcil-I 

(b) Kyrgyzstan (b)  ul'tc1I1 

(c) Russia (c) '-f 

(d) Turkmenistan (d) 1*dl'1 

51. Arrange the following Mesolithic sites 51. '1IiIc1 1TIIIIcP 1?t l5 -1'11 I'IrIcP 

geographically in order from west to east — 91t411 W'T T ftm 

1. Paisra 1. tVT 

2. Lekhahia 2. 1ff 

3. Birbhanpur 3. TI9 

4. Mahadaha 4. 11I 

Select the correct answer from the code given .-1)  ft cpc t'- 

below — — 
Code- (a) 4,2,3 3ft 1 
(a) 4, 2, 3 and 1 (b) 1 4, 3 afl  2 
(b) l,4,3and2 __ (c) 4,2,1 'ii' 3 
(c) 4,2,land3 

(d) 2, 4, 1 and 3
(d) 2, 4, 1 3ft 3 
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-I-IIRici iF 

—II  
(A) IciI -t 1. 1i-i 
(B) LstIf 2. c'c).- 

(C) ii'1i 3. cii 

(D) M')cH 4. Mfti 

B C D 
2 3 4 
2 4 3 
1 3 4 
1 4 3 

A 
(a)  
(b) 1 
(c) 2 
(d) 2 

4 

52. Match 
correct 
lists — 

List-I with 
answer from 

List-I 

the 
List-Il and select the 52. 

code given below the 

List-il 
(A) Vitamin 1. Pepsin 
(B) Enzyme 2. Carotene 
(C) Hormone 3. Keratin 
(D) Protein 4. Progesterone 

Code - 
A B C D 

(a) 1 2 3 4 
(b) 1 2 4 3 
(c) 2 1 3 4 
(d) 2 1 4 3 

53. Match List-I with List-Il and select the 
correct answer using the code given below the 
lists - 

List-I 
(Place) 

List-Il 
(Related 

Tirthankar) 
A. Shravasti 1. Rishabhanath 
B. Kakandi 2. Padmaprabhu 
C. Ayodhya 3. Suvidhanath 
D. Pabhosa 4. Sambhavnath 

Code- 

53. —I 1 —H rl q1 9-1T 

___  
315T 

t4'j ct;'I1::;i — 

(Tr) 

A. 1. 3itc) T1T-T 

B. 2. tici q'iw 
C. aPt1T 3. f1TTrT 
D. tPT 4. fTrrai 

A B C D A B C D 
(a) 3 2 4 (a) 3 2 4 
(b) 2 4 3 (b) 2 4 1 3 
(c) 4 3 2 (c) 4 3 1 2 
(d) 3 2 4 (d) 3 2 4 1 

54. Which one of the following city was awarded 
a star rating in the 'Garbage Free Cities' 
category in Uttar Pradesh in Swachh 
Survekshan 2021? 
(a) Aligarh 
(b) Gorakhpur 
(c) Prayagraj 
(d) Varanasi 

55. Find the missing number — 

5 3 4 

54. ifc1 t cP 
1TUT 2021 '51" q)tJ cM I' 

*cN fT 1IPici fi TTi? 
(a) 3ieiI'i 

(b)  
(c) 9qIIIj1 

(d) cii.iui4) 

55 (iç '-ti 1Id — 

(a) 16 (a) 16 
(b) 20 (b)  20 
(c)  28 (c) 28 
(d) 32 (d) 32 
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56. In 1809, Raja Ram Mohan Roy wrote his 56. 1809 I'iil Tl I-I'11 TT WF?t MR 

famous book "Gift to Monotheist" in which *c1ct' "Th1 ii'li'fi" 'iRi1ci 

of the following language? ffrj nwr fru ii? 

(a) English (a) ait?t 

(b) Urdu (b)  

(c)  Persian (c) Lf)' 

(d) Bengali (d) iiel 

57. Which one of the following is a plant 

hormone? 

57. -iIIsici t'k 1 ir '.iic ii1i t? 

(a) Insulin (a) -1ii 

(b) Cytokinin (b)  itc?)cpiP1'-t 

(c)  Thyroxin (c) iF1ii 

(d) Oestrogen (d) *.'l1I 

58. Plants accepts nitrogen in which form? 58. 'it ii'1i'i t fl5€f     ctr  t? 

(a) '1I'il1 ii 

(b) -iii  

(c)  

(d) 31111tI 

59. Match List-I with List-il and select the 59. T—I f1 1—il '[1d 1JI flT 

zl.1 ctSl[lL — 

(a) Nitrogen gas 

(b) Nitrite 

(c) Nitrate 

(d) Ammonia 

correct answer from the code given below the 

lists — 

List-I 
(Emperor) 

List-H 
(Diwan) 

A. Akbar 1. Ghiyas Beg Itmad-

ud-Daulah 

B. Jahangir 2. Asad Khan 

C. Shah Jahan 3. Muzaffar Khan 

D. Aurangzeb 4. Sadullah Khan 

Code- 

(icii) (cflcii-i) 

A. 1. 3T4 IRlI'(1 T 

I c-I I 

B. 2. 'iifl- sII'1 

C. 3. IIi ii4" '1I1 

D. 4. 31I 'iI,cii 'sii'f 

A B C D A B C D 

(a) 1 4 3 2 (a) 1 4 3 2 

(b) 2 3 1 4 (b) 2 3 1 4 

(c) 3 2 1 4 (c) 3 2 1 4 

(d) 3 1 4 2 (d) 3 1 4 2 
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qil 3T 3l"Ici 

60. Which one of the following is correctly 
matched? 

(Institute) (Location) 

(a) National Centre of - Ghaziabad 

Organic Fanning 

(b) Indian Institute of - Kanpur 

Pulses Research 

(c) Indian Institute of - Gorakhpur 

Vegetable Research 

(d) Indian Institute of - Lucknow 

Sugarcane Research 

61. Ahmed Naser Al-Raisi, who was elected 

President of the Interpol in November 2021, 
is from which of the following country? 
(a) Kuwait 

(b) Saudi Arabia 

(c) Turkey 

(d) United Arab Emirates 

62. Which of the following crop is covered for 

price control under the price stabilization 

fund of the Government of India? 

(a) Wheat 

(b) Potato 

(c) Rice 

(d) None of the above 

63. With reference to Commerce, which of the 
following statements is/are correct? 
(1) It is the field of business that assists 

in the removal of all impediments to 
the facilitation of exchange. 

(2) It deals with the factors of delivering 
the products to the consumers. 

Select the correct answer using the code given 
below - 
Code - 
(a) Only 1 

(b) Only 2 
(c) Both 1 and 2 
(d) Neither I nor 2  

60. 1fc1 q').j t I1ci 'ii t? 

62. i1R5ic1 I 1i1LI 

IWE t.cPk T5VF cp 

3i'i4a rfri *? 

(a) 'l 

(b) aii 

(c) zilciel 

(d) 3qLc1 ci'l  1) 

63. cnPfs  * f -1fPs4ci TT 

*i 

(I) ccj  l5T P111 
f1T 1  

1J'1c1l cp',c1J 

(2)  3t1 c1cP PiciRci 
Ct)Ct)') rf-ir *1 

f- 

(a) c ,clel 1 

(b) cicicl 2 

(c) I'il3ft2 

(d) 9113ftrrt2 
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64. United Nations General Assembly has 64. fftT  IT IHTI 1' 2023 cl  ff[ 

declared the year 2023 as the International ci titT f5T 

yearof- 

(a) Oilseed crops (a) Iic44 '-P'd 

(b) Pulse crops (b) 'fr 

(c) Millet crops (c) 11'~ 3T9T3T IR 'l5ffT 

(d) Animal fodder crops (d) '-i t  E{ t[ 

65. Which one of the following tree is found 65. i{iRci i ct1.i [[ I 

in the Mediterranean forest? ci'-i'i i'i -ii'ii iiIcii 

(a) Teak 

(b) Oak 

(c) Chestnut 

(d) Olive 

66. Which one of the following mangrove areas 
is situated in the delta region of Godavari 

river? 
(a) Coondapoor 

(b) Honnavar 

(c) Malpe 

(d) Coringa 

67. Which one of the following Ramsar Wetland 

sites is situated in any state of India? 
(a) Hokera Wetland 

(b) Point Calimere Wildlife and Bird 

Sanctuary 

(c) Tso Moriri Lake 

(d) Wular Lake 

68. In the event of vacancy in the office of both 
President and Vice President, who shall 

discharge the functions of President? 

(a) Prime Minister 

(b) Lok Sabha Speaker 

(c) Chief Justice of India 

(d) None of the above 

69. The first day of the year 2020 was  

(a) 'iii'1i (*iIIl -t) 

(b) aI 

(c) *1c 

(d) 'k-i 

66. i1i1ici cj T 

(a) cpuI 

(b) s'H1Ic 

(d) 11Tff 

67. {1Is1ci cj T 

(a)  

(b) C1 cIr)l 

(c) c* 

(d) d' 11r 

68. 'L1[ .i111 1:51?1 4  c -j) 

T fT t T cll  ct  

(a) 19t 

(b) 1cP.d1TI 3TZT 

(c) 11T TZBT 

(d) P11 

69.  2020T R 1'i TR -ITI ci  20215[ 

Wednesday. What was the last day of the year 

2021? (a) 

1i ctii 

14l1iclI' 
(a) Thursday (b) PC1h 

(b)  Friday (c)  I[clk 

(c) Saturday 
(d) fii 

(d) Sunday 
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74. 

70. Consider the following events and arrange 70. IiIiI1c1 T9Tft 'w fn ct1ii ii 
them into chronological order— c'j I1k zrifir — 

I Project Elephant 1 
2 Biological Diversity Act 2   frfT1T r1ri-' 3 Wildlife (Protection) Act

3 pq  (t -ur) fzpj 4 Project Tiger
4 cIN Select the correct answerusing the code given

, c below - 

Code - 
(a) 3,4,land2 

(a) 3,4,13fl2 (b) 3,2,4and 1 
(b) 3,2,4afk I (c) 4,3,2and1 
(c) 4,3,2fl1 (d) 4,3,1 and2 

(d) 4,3,1312 
Which of the following is a part of the 71. cr JZ cj 5T I*'ii 
Middle East? -i  ? 
(a) Jordan and Israel (a) siiii 3ft 1IQj 
(b) Lebanon and Israel

(b) iU.lI-i ;3t 
(c) Syria and Lebanon

(c) ''r1rr 
(d) Jordan and Turkey

(d) uj''1 3ft jf 
Gwadar Port in Pakistan is situated in which 72. l4J I çJ 

lCI(cII fIRii 
of the following provinces? fr rkr *? 
(a) Balochistan

(a) FI*c11-i 
(b) Khyber Pakhtunkhwa

(b) 
(c) Punjab

(c) iiii 
(d) Sindh

(d) fttT 
In 1817, the famous Hindu College was 73. 1817 k *3R I'i MR1c cp'Ijl 
established by David Hare in - iirr — 

(a) Agra (a) 31PTT 

(b) Calcutta (b)  

(c) Patna (c) 4eii 

(d) Varanasi (d)  

How many times the 'date 29' will fall 74. 1 Frt, 2022 1 Frl, 2027 
between January 1, 2022 and January w 29 ii.) qif? 
1.2027? 

(a) 55 (a) 55 
(b) 65 (b) 65 
(c) 56 (c) 56 
(d) None of the above (d) l3 C4  .j) 
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75. Rocket works on which of the following 

principles? 
(a) Avogadro's concept 

(b) Energy conservation 

(c) Bernoulli's theorem 

(d) Momentum conservation 

76. Match List-I with List-Il and select the 
correct answer from the code given below the 

List-I 
(Monument) 

Li't-ll 
(Bmlder) 

A. Atala Devi 
Masjid 

1. Nusrat Shah 

B. Chhota Sona 
Masjid 

2. Ibrahim Shah 
Sharqi 

C. Qadam Rasul 3. Sikandar Shah 
D. Adina Masjid, 

Pandua 
4. Wali 

Muhammad 

Code - 

(a)  
(b)  
(c)  
(d)  

77. Find out the alternative which will replace the 

question mark? 

WATCH: 110:: TIME:? 

(a)  54 

(b)  72 

(c)  94 

(d)  98 

78. Consider the following events and arrange 
them into chronological order — 

I. Akbar marries Princess of Amber 

2. Battle of Tukaroi 

3. Mughal invasion of Maiwa 

4. Karrani's conquest of Orissa 
Select the correct answer using the code given 

below — 
Code - 
(a) l,2,3and4 

(b) 2,1,4and3 

(c) 2,4,3andl 

(d) 3,1,4and2  

75. 1iii1ci f fiici tj  

cp'c1I 

(a) 3iTlflIc 1Iqek1.lI 

(b) i1 iTui 

(c) -'IeT wli 

(d) trT T°T 

76. 1'—i —II 

(fii) (.41Iq)) 

A. 1. II 3TT1T 9'ic1 

B. 2. lr i'ki i1i ii 

C. 3. ii cpc4 r Ric q  

D. 3TT 4. 
LI irr 

77. d 'd 1IIT cP'  ii ci IWIT ?i M -I JI5 fF 

r Tr ii? 

WATCH: 110:: TIME:? 

(a) 54 

(b) 72 

(c) 94 

(d) 98 

78. 1lR'Ici 1131'1 IIT 

\31 PIcicP41I1I< ziiftir ct)Ii — 

1. m - & 

2.  

3. nc'icii tR 3ITT 

4. '3l'th tR PI 

 1Tt  

(a) 1,2,3 3It4 
(b) 2,l,43ft3 

(c) 2,4,3 at 1 

(d) 3,l,43i12 

A B C D A B CD 
1 2 3 4 (a) 1 2 3 4 
2 4 1 3 (b) 2 4 1 3 
2 1 3 4 (c) 2 1 3 4 

1 3 4 2 (d) 1 3 4 2 

5T 
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79. The Aspirational District Programme (ADP) 79. 

of NITI Aayog was launched in -  

II1ci II¼ctc 

31RftTf  
(a) January2016 (a) ¼il.1q 2016 
(b) January 2017 (b)  jl.1cf 2017 
(c)  January2018 

(c) ti''i 2018 
(d) None of the above 

(d) 3ctc1 * cp' 

i.u1I9 41Qi 

 frr n 

- 
80. Bhutan conferred the 'Order of the Druk 80. 2021 k fiIc1 

Gyalpo'. its highest civilian honour to the j'1 &rr 'icu1 'iiiRcp 
Prime Minister of which one of the following *p--ii.i 'aff fq cp -iici'- ) iqii f5zIT? 
country in December 2021? 
(a) India 
(b) Mongolia 
(c) Nepal 
(d) Thailand 

81. As per Article 300 of the Constitution of 81. 1T1 911t1!9 300 
India, the legal name of the Government of -ici' i qi-% wr t — 
India is- (a) tq4k 
(a) The Union Government (b) 3fq1 T 
(b) The Union of India ______ 
(c) India

(d) 1TI 
(d) Bharat 

82. Which of the following Article is related to 82. IiRci t 19T1 ITI 
the appointment of a Finance Commission by i'i f1i 3TTrT 
the President of India? 
(a) 200

(a) 200 
(b) 250

(b) 250 
(c) 280

(c) 280 
(d) None of the above

(d) tRii i 
83. The Parliament of India has the 'Power to 83. rri q) q) 'cpI.- .i uj 

Legislate'forthefollowing   t_ 
1. Union of India 

I. Ii5TT 2. Territory of India 
2. RI T5T   (11fmi) 3. Indian subject resident and their
3 property situated anywhere in the 

world 

Select the correct answer from the code given CP '3c1' — 
below - — 
Code-

(a) *?T1  1 (a) Only 1 
(b) ckf1aft2 (b) 1 and 2 only 
(c) c23fr3 (c) 2 and 3 only 

(d) 1.2and3 (d) 1,23ft 3 
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84. Which one of following city was t among 
the top three cleanest cities iii more than one 
lakh population category in Swachh 

Survekshan 2021? 
(a) indore 

(b) Surat 

(c) Tirupati 

(d) Vijayawada 

85. With reference to 'Lake Victoria in Africa', 
which of the following statements is/are 

correct? 
(1) The lake is surrounded by four 

countries. 
(2) It is situated in the African rift valley. 

Select the correct answer using the code given 
below — 
Code- 
(a) Only 1 
(b) Only 2 
(c) Both 1 and 2 
(d) Neither I nor 2 

86. In a queue of boys, Sohan is 9th  from the 

Ramesh's place is gth  from the front. Rohit is 

standing in between the two. What could be 

the minimum number of boys standing in the 

queue? 

(a) 10 

(b) 12 

(c) 14 

(d) 15 

87. With reference to trade, which of the 
following statements is/are correct? 

(1) It represents demand and supply 

both. 
(2) It deals with only the demand side. 

Select the correct answer using the code given 

below - 
Code - 
(a) Only I 
(b) 0n1y2 
(c) Both I and 2 
(d) Neither 1 nor 2  

84. frfr 

2021 i ' 9T 3dr  

4 I1fi1T .ii air? 

(a)  

(b) 'tjc1 

(c) fii1 

(d) i1isi 

85. 3cp i 1ctcIRii 1kf' 44 , 

i1 qi 9T/ 52T 'i 

(I) Zf lef iT  

(2) 31Wl ¶r ii  t fuir ' 

c\1l  

(a) cc4'f 1 

(b) rT2 

(c) c'H'j13ft2 

(d) iaiT2 

8. t ttli k 9t -1T 

1 i 3IT1t 8t ai19 *1 'l1ci 3T 

fPE I 1T jciv1 *? 

(a) 10 

(b) 12 

(c) 14 

(d) 15 

87.  k ifiRsici T51 1T 

•{r/ 5aTT nl /? 

(1) 3,fr 3Tt' 4'-j) 5T 

cp'c1I ti 

(2) *1 Ti t -T1 * I 

(a) *l1 

(b) *f2 

(c) *i't13fI2 

(d) 9r13rrl2 
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88. Antibiotics arc mostly obtained from - 88. -c) iL)1~ct*f 3TtT: .lI1c1 * - 
(a) Fungi (a) c)i 
4bj Viruses (b) i41vi,3fl 
(c) Bacteria (c) 1T'3 
(d) Angiosperms

(d) 
89. Which of the following is not correctly 89. -lIiIc1 1?t cili it iiIici '-i t? 

matched? 

- *IT l5Tel - I 

- 11-tI 

- fci,iiii 

4 

90. Which one of the following country was not 90. lQcici cI'1 ff I, -1cI' 2022 t 
i part of exercise 'Sea Dragon 2022' that IIi -ci TPT T1Tf '11 4 Iri 
started in the Pacific Ocean in January 2022? 2O22 f ii1i 'i 
(a) India (a) 11U 
(b) Japan

(b)  
(c) Philippines

(c) I'.1ii 
(d) South Korea

(d) ifP'r 
91. Who among the following was a 91. iRsici l-f lTT±ThfT 1 TR1 l5T 

nationalist poet in Pre-independent India? jcij41 chIl -iti .rr? 

(a) Ranglal (a) 'iclIei 

(b) Nabin Chandra Sen 
(b)  19ti-1i 

(c)  Hem Chandra Banerjee 
(c) it-ci91t 

(d) Shiv Kumar Batalvi 
(d) 1ici cp1 lcIc'ic) 

92. With reference to 'Alaska' which of the 92. 31e1I'tqi' T4 'iRiRici t 
following statements is/are correct? fr/ -r 
(I) It is oil producing state of United (I) 

States of America.
\3ct4Icp 'I'J1 * I 

(2) It was purchased from Russians iii (2)  1867 ii 
1867. 

Select the correct answer using the code given 
  -  

3 
 

below - 

(a) Only I (a) c1c.l I 

(b) Only 2 (b) cic't 2 

(c) Both I and 2 (c) c'1i') 13f2 

(d) Neither I nor 2 (d) lrr2 
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(a) Maize - Tasseling (a)  i ctp 

(b) Groundnut - Pegging (b)  I9'c 

(c)  Chick pea - Tillering (c) cti4l ti-ti 

(d) Tobacco - Topping (d) cIHCI? 

Code - 



93. Who among the following was appointed as 93. 2022 k P-iIiPiici f5 ¶11IcIlI 

the tenth Chairman of the Indian Space 3T1ftT *lTl *i'ic'i (.'i')) r1 3T-T 

Research Organisation (ISRO) in January q ictl fii iirti? 

2022? 

(a) P.L.N. Raju (a) 1t ei. l. "I'i 

(b) V. Han Prasad (b) R  

(c) C. Jagannathan (c) 1fT-I9 

(d) S. Somanath (d) 1. ' -l1tii.T 

94. 'Stand—up-India' scheme for promoting 94. '341cii 1 icii 

entrepreneurship is related to - — iq-ri sfci t — 

(a) Minorities (a) 'cp l 

(b) OBC (b) 

(c) Handicapped (c) fc.iiii 

(d) Women, SC and ST (d) 'iIi, ti.1i. 3 

95. Which of the following countries from 95. f'ti-i" 2021 1ctc1  31lI 

South Asia attended the Summit for i'i 3ivi)Iici c1 E fi'i' tii-ii 

Democracy hosted by the President of the fu1 jfç- t 

United States of America in December 2021? fi ? 

(a) India, Nepal and Maldives (a) Wf, ttiTT 'ft  

(b) India, Pakistan and Nepal (b) til bd II 3ft 

(c) India, Sri Lanka and Maldives (c) '1TI, 3ikic1i 3ft 1Ieic'k 

(d) India, Bhutan and Nepal (d) ImT, T9 at) iimr 

96. If MET, SET and TET are coded as 52,76 and 96. '.i1 MET, SET 31 TET ct1: 52,76 Z3f1 

80 respectively, then what will be the code for 80 ci  fT1T  it PET T ci  ti 

PET? 

(a) 48 (a) 48 

(b) 56 (b)  56 

(c)  64 (c) 64 

(d) 72 (d) 72 

97. Which among the following was the first 97. iI1Ic1 i 't9T 1QTT1 't19'f ctei'l 

successfully cloned animal?
'ill1d1' 

(a) Dog 

(b) Rabbit 

(c) Gibbon 

(d) Sheep 
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98. What was the disinvestment target for Public 

Sector Banks and Financial Institutions in the 

Union Budget 2020-21? 

(a) 80,000 Crores 

(b) 90,000 Crores 

(c) 100,000 Crores 

(d) None of the above 

99. Central Institute of Medicinal and Aromatic 

Plants is situated at which of the following 

place? 

(a) Luknow 

(b) Varanasi 

(c) Gorakhpur 

(d) None of the above 

100. With reference to 'Indonesia', which of the 

following statements is/are cotlect? 

(I) It comprises of over 15,000 islands. 

(2) It has over 150 active volcanoes. 

Select the correct answer using the code given 
below — 
Code- 
(a) Only I 

(b) Only 2 
(c) Both I and 2 
(d) Neither 1 nor 2 

101. As per the fourth edition of State Health Index 
released by the NIT! Aayog in December 

2021, which one of the following states 
performed best among the 'Smaller States' 
category? 

(a) Goa 
(b) Manipur 
(c) Mizoram 
(d) Sikkim 

102. Turmeric is an example of underground stem, 
known as - 
(a) Bulb 
(b) Tuber 
(c) Corm 
(d) Rhizome  

98.  1Ir -lTf 

cjr4 2020-21 3T eW1 ctlI 

(a) 80,000 l5 

(b) 90,000 cl, S 

(c) 100,000 qs 

(d)  

99. cIq 3ftMT t TT 1.TF TTf 

(a) cii 

(b) cIkIuI*1 

(c) i'R 

(d) 4Ii) 

100. 1u1qi i111c1 
T/ Ti  

(I) f 15,00O 3TfT   iIItef i 
(2) l50 &1.Th5 '114 1Ic'lIs? 

(a) cle1 I 

(b) cf  2 
(c) c'1.i'i 13iI2 

(d) 9lFT2 

101. 1'141' 2021 41i 31TZAT[  NI 'J1I J4 
-1TQ cp1cp Et , 1I1c1 

ti4 fii? 
(a) i'1cii 

(b) i1i 

(c) 11If 

(d)  

\3I,UI f q)  

cp4 

102. Ic1 rk -r 

(a)  
(b)  
(c)  
(d)  
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103. What is cholesterol among the following? 103. 

(a) Steroid 

(b) Vitamin 

(c) Enzyme 

(d) Insecticide 

104. With reference to 'National Parks and 104. 

Wildlife Sanctuaries in India', which of the 

following statements is/are correct? 

(1) Highest number of national parks are 

in Madhya Pradesh. 

(2) Highest number of wildlife 
sanctuaries are in the Andaman and 

Nicobar island. 
Select the correct answer using the code given 

below - 
Code - 
(a) Only 1 (a) cicic'f 1 
(b) Only 2 (b)  cicie1 2 
(c)  Both 1 and 2 (c) 1'iI3t2 
(d) Neither I nor 2 

(d) tl3111T2 

105. Which of the following two states are the 105. 

leading producer of bauxite in India, as per 

the Annual Report of the Ministry of Mines, 

2020-21? 
1 Odisha 

2 Andhra Pradesh 

3 Chhattisgarh 

4 Gujarat 
Select the correct answer using the code given 

below - 
Code - 

(a) 1 and 2 

(b) 1 and 3 

(c) I and 4 

(d) 2 and 4 

106. To reduce the interest payment on the 106. 

Electricity sector, which scheme has been 

launched by the Government of India? 

(a) UJALA Scheme 

(b) Urja Ganga Scheme 

(c) UDAY Scheme 

(d) Saubhagya Scheme 

sII'1 91Icl4 2020-21 cT) cii1ci, 

TRT 

cj(  

I 3fII 

2 TTT 

3 

4 'il"Ici 

4)  f  T cp. 

(a) 132 

(b) l3ft3 

(c) l3ft4 

(d) 234 

tR T5T ijIdI'1 cp , 

'<'t) I" cpi i '3j 'II fflTT 

(a) 'vtIdI 

(b) 3,ul1 1TT[ 

(c) 3cl 'lii'iI 

(d) ThTlTzT Lul3l.1I 
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3 4 6 

8 x 14 

18 20 24 

3 4 6 

8 x 14 

18 20 24 

107. Inthefo11owingtable,themissingnumber'x' 107. Pji i  ,-iiIu11 k ej,'-cl ii xt — 

is — 

(a) 9 (a) 9 

(b) 10 (b) 10 

(c) 11 (c) 11 

(d) 12 (d) 12 

108. Which one of the following gases is used in 

manufacturing of polythene? 

108. IT i-ti I fIIc1 f5 H 

r kii t? 

(a) Ethylene (a) tffh 

(b) Carbon-di-oxide 
(b) q1T—s,—aflT 

(c) Nitrogen 
(c) ii'1st'-t 

(d) Carbon monoxide 
(d) ti4.j if jg  

109. According to the Constitution of India, the 

'Executive Power of the Union' shall be 

vested in the — 

109. 1W1 ifTl9 3l,'iN, 'cik I 

ci4iRici 'rfr fiRiIci P1lci t — 

1. President 

2. Prime Minister 

Select the correct answer from the code given 

below the lists 

Code - 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2  

I. 

2. ii-ii 

-1lt 1?,  it  15T -c4j 

(a) cqçj  1 

(b)  

(c) c.-t'i13fr2 

(d) lff2 
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110. Match list-I with list-Il and select the correct 
answer from the code given below the 
lists: 

List-I 
(Minimum 

Qualification 
of Age) 

List-Il 
(Office/Post) 

A. 21 years 1. President of India 
B. 25 years 2. Member of 

Panchayat 
C. 30 years 3. Member of State 

Legislative 
Assembly 

D. 35 years 4. Member of State 
Legislative 
Council 

Code - 
A B C D 

(a) 2 3 4 1 
(b) 1 2 4 3 
(c) 2 1 3 4 
(d) 4 1 2 3 

111. With reference to the 'Galapagos Islands' 
situated in the Pacific Ocean, which of the 
following statements is/are correct? 
(1) They are formed due to volcanic 

activity. 
(2) They are part of South American 

nation Peru. 
Select the correct answer using the code given 
below — 
Code - 
(a) Only 1 
(b) Only 2 
(c) Both I and 2 
(d) Neither I nor 2 

112. India is the largest producer of which of the 
following fruits in the world as per the Annual 
Report of the Department of Agriculture Co-
operation and Farmers Welfare, Government 
of thdia, 2020-21? 

1 Grapes 
2 Mango 
3 Orange 
4 Papaya 

Select the correct answer using the code given 
below — 
Code - 
(a) land2 
(b) Iand3 
(c) 2and3 
(d) 2and4  

110. —I —ii 1io TfTR T 
iI5T 

1l ctRsi: 

—II 
(ff/1J) ___ 

(.lc1e1 31T 
flT) 

A.  2l I. 
B.  25 r* 2. '.4tflc1 '14'- I 

C.  30 r4 3 sJ THT 
'H4 *I 

D.  35 4. ir.Tf1TT 

'.iR '14*'4 

A B C D 
(a) 2 3 4 
(b) 1 2 4 
(c) 2 1 3 
(d) 4 1 2 

111. rir 9k1Il' I f.TT clI9IhI'l*f tt1T 

r4 , 1Ri1d l'-t 9T/ TT 

'i /? ____ 
(1) ic'l c111T Ic1I I1l1l11 

 *1 
(2) rtJT iRctc1 '<i t5 T 1ii 

(a) ccl 1 
(b) cic1 2 
(c) 4')1'l 131t2 
(d) 91ft9Tt2 

112. ITE '1q1' * 'iuii 4 1'ii'i cPeI'I 

fm1'T cii1ct ftt1 2020-21 

9TTf k 
ii cict' 

2 31TI 
3 *c1"I 

4 gLiçfl 

(a) l3ft2 
(b) l33 
(c) 23i13 
(d) 23ft4 
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113. With reference to the statue of 'Nataraja the 

Lord of Dance', which of the following 

statements is/are correct? 

I. The image represents dancing Shiva 

having four hands. 

2. In his right ear, he wears a man's 

earring, a women's in the left. 

Select Lhe correct answer using the code given 

below: 

Code - 

(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

113. 1eths1 'Ic-'-1 WIc1I'1 j[ j'4 

fi T/Tt/? 

1.  zJ 'c-4 ct,  4I'. cfl 

*1 rf1r c'ç 

2.  3lttk q*-i k i -  (c) 5T 

qtf 11rr5Tl 

(a)  tTT 1 

(b)  cTT 2 

(c)  q')'i'ilafr2 

(d)  9frl3ft9T2 

114. If 44X75=745483x74=7348 and 114. 44x75=7454,83x7473483ftc 
55 x 48 = 4585, then 14 x 45 viIl be equal 
to 
(a) 4145 

b) 4415 

(c)  4451 

(d)  4154 

115 As 'Part' is related to 'Whole', in the same 115.  TPT' (Part) 'f' (Whole) 

way 'Arc' is related to. which of the II?E t. 3') McPR 'EH1T' (Arc) 
rfit? following? 

(a) W9 
(a) Area 

(b) r'lc 
(b) Chord 

(c) Circumference 

(d) Segment (d)  

116. Uttar Pradesh Council of Agricultural 116.  T 51 3T 119 f iftiftr 
Research is located at which of the following fr f'ii t? 
place? 
(a) Lucknow (a) ci1 
(b) Meerut (b)  
(c) Gorakhpur 

(d) None of the above ______ (d) \3clT 1 ct1 'i't 
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(a) 4145 

(b) 4415 
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117. With reference to Rhine river in Europe, 
which of the following statements is/are 
correct? 
(1) Rhine river is an important pathway 

for industrial activity in Northern 

Germany. 

(2) Port of Rotterdam is located at the 

mouth of Rhine river. 
Select the correct answer using the code given 

below — 
Code - 
(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

118. With reference to the India International 
Trade Fair-2021, which of the following 

statements is/are correct? 

(1) It was organised in November 2021 

at Jaipur, Rajasthan. 

(2) Main theme of the event was 

'Atmanirbhar Bharat'. 
Select the correct answer from the code given 

below - 
Code - 
(a) Only 1 

(b) Only 2 

(c) Both 1 and 2 

(d) Neither 1 nor 2  

117. zq "i i4'i , iki1 

c1 T/ 1T /t? 

(1) 'ti i4', F# ct;) fi1icp 

i1iF1i fi' t) UUj 9I1 

*1 

(2) I'I WF il i-i '-t4'1 

t I 'l . l5T 

(a) c,cj 1 

(b) ct)c1el 2 

(c) 4'li'll3ft2 

(d) ii1T2 

i'iclI  qfcic'-i ' i51 

if5lT vi? 
119. When was India's first National Action Plan 119. 'fl[ l-N 

on climate change released? Ct)') c NT9T  

(a) 2012 (a) 2012 

(b) 2015 (b)  2015 

(c) 2008 (c) 2008 

(d) 2000 (d) 2000 

120. Which one of the following is correctly 

matched? 

120. I1I[ 

 

(Place) (Districts of Uttar 
Pradesh) 

(a) Bateshwar - Agra (a) 

(b) Deva Sharif - Jaunpur (b)  
(c)  Sankisa Farrukhabad (c) 
(d) Bithoor Kanpur (d) 

i) 

- 

cCfl - 

- L;I€flq 

- 
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2 30 {- c- 100 

 

  

(i) -T iPicii4 *1 

(ii) ccb fift IEI cb &1l•1' cI1- 3F f I 

 

Ri1ci i-i — clUI 4[[ qcacb '3d 1IL — 

{IT ctl 3 * T c cbI I 9 * 19Ir1 3: IJ cbl 'IcI  

i±iiU  ,lcPk 1ii 3ft  I Fir r fi r—i3f c1I 

HNJI 1I 1vcUI ThI *, C)Rb It '{R .iiiRct P' Iictc  *1 31TT 

thJI cli) -RXJci  cP 1t 1ITF   Ri ci IIT JiI'1 clII 

* I '-1 3lIccPclI 3T f) I4) * 1 -ii) i-iif cbl 'Ad1     *  

Ricpcii it—f {th 5ll * '3I c1 cPI'i )[CP  IJ T 3P1N 

Ii 311[ 11Ct) 3"1Rt ct  Icb41I €Ml f *1 9 cbclI4'1 t 

3T-1cbcflcT1 'Ic 'jI cu f {9c'lc1l ii4 't 

* {) i €) [   3TT 1l\Jl 

3T-11 I'c1 lc *ti I1il4 TftT cP1I zI *, t 

-flRtp iRi ii— ct'1 lIIct ii 'ii icict  

3Tf fTMRt cici iII'-ll1dI, Piiii ç1çj  c cu1 

3IT21TftTEI 3Ik1'1 cbl 31T *1 3ThftI 

k1H1R cf)  1TEHT 'ilRlcl bI  c1 Pi1ui  z f {cp 

[ 'ii if 3ICICP * I {icb 1ii 1IT -c1 1Ni cPc1I 3TTf * I 

() - 1 cbl fcc1 i1cp i1L I (3) 

() -,cl CM -1kII RiR I (6) 

(TJ-) _3ju Z 

 

 3I 4) tT c'1I q'u1i I (12) 
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IIc1 icpi'1 tf5[  l5T iiR)  (tabular form) 'ii' 1i1 - (15) 
qjcp: 725(2)/12()/21-22 

*jRici, fmu fTrT 

WI1 kI'i1 

('1l3, {~ilc: 20 jt.ici.a 22 

fi: 1ci fp 

-1 C  4 

i1 3WF  cp  i5T Pii 31T * Rb is1 IcP 1i 3I'L1I kI 91;k1  
qci ffit9 uic1 9II1kl T1TZ  pi4   R.ii r 

c1i 43TI , ici i4)cpui  qj) cp 1ii ific 

31ks1I iRWei *, 3icPi Qj4)quI ' 'ict fri ii 

c1c, 

TT 

iIq-1 f 725(2)/12()/21-22, 1IIcP 20 1"Ic, 22 

Ri1i) -ii 1 iicii ctii4c - 

'd91 lIIie11 !,Uc1141 r  iwrzr 1i Rb 
 fTf1t cIv) 1I1T 1.iic p'I 31Rk1E1 , 'iiI Q1'Ct) I 311411 1  31111{?c1 

fF i4 cic' c1i c 3Tf 1 TP t 3T cicp 31ci I)cUi 

[52*tl11lL1 1-4) 1T 3Ics1'1j Page 2 of3 I ill II III II IIIIIIIIU II 
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i1Fci Wif — (8x324) 

() cIk1ct tI JT 3T2 ' 1cPI IIIsci 1I'Y cc1 c'111L I 

()  3iTT fi1  V *1cpI ct, IuI *cc1 tI1lt I (8) 
(IT) 1iRi i &ri ' -ti cc -ii'i 'ct 3cIuI I (8) 

ifi -i — (loxa=30) 

() fI{SJi q — (io) 
(i) PROVISO 

(ii) BY—LAW 

(iii) ABANDONMENT 

(iv) CORRIGENDUM 

(v) CADRE 

() 1[ ft — (io) 
(i) 'iii 

(ii) 1.jc 

(iii) c'1i i 

(iv) fT9T 

(v) 1c,r1' 

(IT) -iRiRci T5T 3T4 Ri § i'1cPI c1Ict 1'4l c)1i — 

(i o) 
(i) c.Ic 1T c'11 

(ii) c1lc cç \jiltil 

(iii)  

(iv) 'ici c'i' 11 ci c1II ct'1 

(v)  

i{iFci tq   cu1i — (5x2=lo) 

() uii1i 1i-ei-i -ii ifcw *? cic11l1 Ri 'zt.i-u1i f5 ilI c1IcI 

uiRi Rtci c -1 V (2) 

() www ctit V *1ct) iII)cii 6lc1l  I (2) 

(IT) ck ii'i' ct.0 V cuI iiii,  I (2) 

(q) "c< 1ci.I ,ictI ct'1 pi) ? RAM TT RUM ci V 2) 

() https ctI V crI V 2) 

QCAIBC : RRMT-52 

3.  

4.  

5.  
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 RRMT-53 

11g .  1I9Nl I6c1I1 

cJJq)(u, (c*.ct)) 

 30 fHe 

31'191 P1i4 $HcN1 3T?1t 

ff *11 cii1 f—T 9 5T MIl ct' I 

—ic  t4  1 tJ 

wrt Tq 1< ccI 1—cP k ti tii 3'IcI l'—1 m Q1 iRI f1T5 t )q I 

9çquuf 3I 

1.  

2. '31— 3TRT1 T9T iiq', f, i *i 3IIT ru i'-ti T 'j 

lzrr  1iiqii i4 r' ft  

3  

i' ti fI  r nq *s) i  3frr ,  cp 

ieii 

4.  

F 1I' 'l cp • I 

5.  

qLq t, 1q' t Rcti 

6. f:  

ccu Ri 1 11I: Tifi  iir u1IL1I I  
(i)  

fir f5 'PI .I '1Il I I 

(ii)  

c1I *, f 4 3T Tf * tTi d4 1Ij'th t  c1 I5T 4US  11I  vIIL1II 

(iii) i1 ciI ii pl  9 fT?1T 'ilicli W?th1 .3'414clI kl .i fi 'lIc1I 'i 19 * fI 

1 fi lIIF I 

3fl1 u IciQi T ifl i5  

Note: English version of the instructions is printed on the back cover of this Booklet. 
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uui1cp : 60 



1. 1IIc1 it— 

(a) — 

(b) iiki —  

(c) yucp  — 

(d) 1i11 — 

2. 31TEIt 5T cic*tH 'ry II — 

(a) 3111T 

(b) aTfE 

(c) 3U 

(d) 3TrqT5 

3. 

(a) ffii1T 

(b) 1c 

ff 

(d) 1'jciI 

4. i_T1 ,CA IQic1t? 

(a) 31T —  

(b) 31IIc1cII — c1clk 

(c) zcIe1'1 — 

(d) c4I'j — 'zi'S1l 

5. if ç cl 31 dllct * — 

(a) I*-1c ci1i 5T 'H1N ctiI tIJIL I 

(b) fjui ITI .'i'i 1)ci' IT *1 

(c) 'ji 41c1 t—iw 14I ii4i I 

(d) 314 IIT_.1uIk4l c1-) zii1t. i 

6.   IGc*- - 
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7. 1i1cii — — 

(a) nI'ii 

(b) jlI''il 

(c) 1cp 

(d) 3ftr 

8. s4Jc1lt4cp fjU jI' * — 

(a) iiizici 

(b) 3IcRigIticp 1i'i 

(c)  

(d) icI1clIzlcp 

9. i2TI('1c1*— 

(a) 1ui ii It ciiRi R1ci t iic1 *1 

(b) 1  1ci,i) IGq Ri i11ci ith 'd  1iui cç' 

(c) 3][f tf 31t 11 q'1i  *1 

(d) 1ui  rr 1Ii 1 Wct1 c1I t, Scfc1 9t c1I I 

10. i1iRici lT cct  3T *? 

(a) 1ctl ciIctpII1cp PTIEI II I 

(b) q 1?b*ici rr frii i 

(c)  

(d) TRT t,cp   I *1 

11. i11ci '3P9 T [d'19 * — 

(a) fi 

(b) 1i 

(c)  

(d) &E 

12.  T 1lelcl 1 * — 

(a) TrfT1q — f'iir 

(b) 3TtU;rn?.t — 

(c) 'c'l1 — 1yui 

(d) 11i!.ci — Pifc 
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'3. d'iG- 

(a)  

(b) cc  

(c) cpcl,  

(d)  

14. 

(a) ciiz1 

(b) 1T9tf 

(c) qiqiFi 

(d)  

15. '1 T1 4Ic1I ITf?LT 1ct1 'T I64 t - 

(a) f1ui 

(b) lR9IuI 

(c) 1Izici '-isiqitjci {)vul 

(d) Ic9cP 1uj 

16. 1c11 - r 5T I, ct,  JG4 J11 3T *, - 

(a) F~cpi - 

(b)  

(c) icI1 -  

(d) ñ'i - 

17. R1' IGc 5T 1ki'ii -ii t - 

(a) fT 

(b) cLct) 

(c) cf~i 

(d) cp1.i 

18. dI6Ct— 

(a)  

(b)  

(c)  

(d)  
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19. T fTI5  — 

(a)  

(b) Ftpui 

(c) T 

(d) i 

20. '3T5 it fr q, iq -  f9 flci q-f—T 1pc'q 1Ic1 

(a)  

(b)  

(c)  

(d)  

  

23.  

(a) •1— 

(b) qc —  

(c) ct)cpcIl —  

(d) ffii — 4i 

24. i1Pci 11c1 * — 

(a) 3ITT — 

(b) 1I0Ic1-4 — 

(c) 3licIc'iU1 — 

(d) — r1 
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25. t tici  * 1  t t — 

(a) kiiFicp 

(b) 1iiIicp 

(c) '4I11I11q' 

(d) j4 cp '1 

26. i1i1ci 

(a) 111T;1T3tI 

(b) oiiiF9 cl1i z1I{ Ri'i ffi 

(c) Iq)' — c, 

(d) ci'i ct-ii ii Pf I 

27. iIici cl IGc 1 1vi *? 

(a) 9cieil 

(b) 3T2 

(c) 4Rc1t' 

(d) ic'i'lcP 

28. .i:f 11UI J6C — 

(a) 3T1 

(b) 3Ttf 

(c) rR 

(d) JE4 

29. &?tclIlI6ct — 

(a) 'ic4) 

(b) T'i 

(c) iiticii 

(d) cci 

30. ' cicbI' 15T 1ki1ii i.sc — 
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1cfT 
HINDI ESSAY 

r

Hh11 : cik 

         

&fEFr WI 120 

       

fttf 31:I 

     

(i)  

              

              

(ii) i i I ti 

      

(iii) ftTh[ Q1TT t1  &1[ Tt 31cN1lcP -IN, -ftII, ~1-i -Ik 31Tf ff fff I 

iRRci 1'l' i  f 1i1 I (i Th9i 600 T) 

() I{c 34ç RE5Tft cl1 

() I1?TI 

(IT) cic1 -iI -1 IiI-I{  ii 311T 31tI cnTT4 I 

1i1fci Ri f5   f 5T   fr 1iR I (T ThIT 600 T) 

() i I4-I1cf tT t N1c Ui_1TftTUT cj
,,cju fiui -iii I 

() J) ') cic'iii '111c1I cPI H-T1 

(ii) '-Hc1k —'slki-i ct1 fII -11?t I 

- 3 

i1iRci R' ct ci c  ff R1 I (r T 600 T) 

() cc1 cf  3IIIcI 3ft nr c  Mi 

() --ii - w-i l-11uc I 

(IT) icpRicp 34 9I'1 IiiP-ii I 
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TRANSLATION FROM ENGLISH TO ifiNDI 
AND FROM ifiNDI TO ENGLISH 

cll'-I 

Time Allowed: Three Hours 

3T1I51TE 3W :100 

Maximum Marks: 100 

Pci 31l 

SPECIFIC INSTRUCTIONS 
— '1 1 cfl çc) 1-f iffi af aifr * 

Note: Candidates should attempt all questions. Marks carried by each question are indicated at its end. 

Part — I 
(Translation from English to Hindi) 

1. Translate the following passage from English to Hindi - [30] 

Health Behaviour 

With the UK reversing its mask mandates and Canada seeing big protests against vaccine 

mandates, a global recalibration is underway on the use of regulatory approaches to change 

health-related human behaviours, especially those that end up criminalising individuals with a 

specific behaviour. Use of force to change behaviour is generally unwelcome, at both the 

individual and social levels. We need to strike a good balance between the powers of the state to 

regulate versus constitutionally guaranteed rights of individuals as well as social mores. 

Human behaviours are voluntary acts by individuals based on their risk benefit 

perceptions using socially conditioned value systems. In general, humans want to follow social 

norms and do not want to be labelled as 'abnormal'. One could say that most behaviours follow 

a 'normal' statistical distribution. Hence, a bulk of the population will lie in the middle of the 

curve and a smaller portion will have deviant or extreme behaviour. 

For example, people who always wear masks and never wear masks would be very few, 

while the bulk would sometimes, generally or often wear masks. A public health approach 

generally alms to shift the distribution while a legal approach is reserved for outliers. 

The policy options to change human behaviour are-educational, structural, fiscal and 
regulatory. Educational approaches are the softest of all the policy interventions and are aimed 

at increasing health literacy among the population and provision of appropriate skills, so that the 
change in behaviour is thought-out, voluntary and sustained. While the most preferred approach, 
it takes time. 

The best way to hasten it is by creating an enabling environment-making public spaces 
non-smoking areas, putting speed breakers on road etc. If these don't work, then one could go 
for fiscal measures that include incentives for good behaviour and disincentives for 

inappropriate behaviour. 

[55- Translation from English to Hindi Page 1 of 4 
and from Hindi to English] 
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Lastly, a legislative approach defines unacceptable behaviour, bans it and imposes fiscal 

and non-fiscal penalties for doing it. Legal instrument can be a law passed by state or national 
legislature, a court order, or an executive order by an empowered government authority. 

Educational and structural interventions nudge people towards appropriate behaviour and have 
no negative implications. Fiscal measures bring an element of reward and punishment into play. 
Use of law ends up criminalizing behaviour. This should not be the preferred option. 

The harsher option of a legal mandate can be exercised when we don't have time for other 
measures to work or other measures have been tried and have failed. Secondly, a legislative 
approach for restricting human behaviour can be accepted if there is 'externality' to it. For 
example, speed-driving results in killing of pedestrians. If tuberculosis patients refuse to get 
treated or default on treatment, then they put others near them at risk of developing multi-drug 
resistant TB. 

Reduction of such negative externalities of human behaviour can be considered justified 
for a legislative control. However, we cannot mandate T.B. treatment as currently there are 
issues related to stigma, access and affordability of treatment rather than refusal. 

Another important consideration while deciding on using a regulatory approach would be 
the cost of implementing it-such as heavy burden on already overworked police department in 
India. Police were hesitant to implement the smoke ban in public not only because they 
themselves were a high smoking group but also because they thought it an unnecessary work. 
This encourages corruption and also has a potential for misuse as it can be used to target 
specific people. 
Translate the following extract form English into Hindi - [10] 

Powers and functions of the Lok Sabha Speaker 

The speaker is the presiding officer of the Lok Sabha. He acts as the guardian of power and 
privileges of the members of the house and maintains order and decorum for the successful 
conduction of the House. The speaker's powers are derived from the Constitution of India, the 
rules of procedure and conduct of business of Lok Sabha and the parliamentary conventions. 

The Speaker of Lok Sabha - 

(a) adjourns the House or suspends the meeting in absence of quorum. 

(b) presides over the joint sitting of both the Houses of Parliament. 

(c) decides whether a bill is a money bill or not. 

(d) decides the questions of disqualification of a member of the Lok Sabha. 

(e) acts as the ex-officio chairman of the Indian parliamentary group. 

(0 appoints the chairman of all the parliamentary committees of the Lok Sabha and 
supervises their functioning. 

(g) exercises his voting power in case of a deadlock. 

The speaker represents the House. He/She is the symbol of nations' liberty and democratic 
values. These powers require him/her with responsibility, impartiality and independence. 

[55- Translation from English to Hindi Page 2 of 4 
and from Hindi to English] I III II III IJIJIIIIIlIIIU 
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Explain and comment on the following words/expressions used in question No. I and 2, in 

Hindi 
- [101 

(1) Recalibration (6) Legal mandate 

(2) Fiscal measures (7) Thought-out 

(3) Nudge (8) Whammy 

(4) Externalities (9) Adjourn 

(5) Ex-officio (10) Quorum 

Part —II 

3i3lglg) 

4. {iRcici 311c1uI 15T 3Tfr 1Ic c)1i - [30] 

1iii  

cq4) jcfl jf  ct  1i tR 33T cJ  

ciIiJ qij cloiI i *iq,e  ii I 1ii.i * fr g'c: i1q ,TqI *, i'l icii3it 

rr T c4 Iifrl cf ') c cPic '1  Z1T RI1N ct cf)j 1e1 11iii 
1cPc t - 1 c1 3lcPII c1  TTVTT[ 'dc1I-I *1 t1iR1.II, ci 1icp, si1i, 
31Ii:l-1 3i 511l *I1-l1 * *qi i1 1I 3iTf -iii iPc c  sc'i c6 1t 'i 'iiii 

c1111 I $'1 '~)iiPlcp 31Ic-?lti.lI' c ciic'i'i '4t -1I'l1 
m i 3lii'1i c1, f 1ii-i it 3-I)ellzl-iI ct T 9 

1cI 

ç-q, thI cI 31T 'suIc1 , t1I 1 1   cl4 3jcj  1ii'i 
? i: -i I çi c)  'f' 4m f 

tffT T 1c1I ii1 R i, i i°m3f {i1I 

ft fr * 1i*cci fu r iii  I f ii 
itrk ThT5  i !1Il fl*tciiRi  * 'i4i fi 1i ifl-i rq 3iqt i1ct 

I 3T—T f I T f5 Ift)4 f dI t, 
1ii'i t ft  t fr4  * I IiNi 3cIjc1l 

\31Ic9cPc1I lt lr I T1t451T 3 c1cli' 5f j1- 

31Ic1N,  dccl * I 1fi IYc1, \4lc9cd1l 'Nct IZjI ci)') 1T1 'ClclI r9Tk * 
31lclIci) ti IIIlcP fIi cp' I*iIci cicil tI iIcp fil !,ctic 9] 4'I iiT1 , 
1l'l'1 f 3ftZ ' 1cr,d1 1l-ciI th 

 UZI Z3ft iIci fii 1ii'i c-j'ii.-ui ct ') lIc1 ci li ng cp * 

1T"T fl 5U1 *, ii-iI ijIicp ff jj --#. c 
i Ib flI?i izf ci—ctii iiIci I 

[55- Translation from English to Hindi Page 3 of 4 
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IIc1 fT2Tr Cci 3TTT hnPlci fiizft t  'ii1 t, i ci'i i 

3CI'l Tj Th -T 1T '11I'il 311 J1IC11 iI'l 
#iiuu1 .i I{I 

.lg.i I I -I I i) f5 1H'I 

fri , ct.iiRb  'i Rcp"iui wr 31f:r  fr , 1iic 1I'.( c) 

*iii ' t 3Tq4 &Rtt 'ii i' -i c1 c  tdi *, fT i 

Th TTT 1 Ief-1 *I tT T 3ft f   ) cpf 3ft &lf i1I  3t 

1TT 1sl1c1IS i5T c1Ict 1 11*c1 cII1IcPc1I 1icii' *, R1 1i  1iii i) *1 

&q4  ei 1eicn'i t 1c  t, &TQIT Tf qicifcpcii m 

T1U qt1I1 tq-  :4J ')4) I 

Pifi1ci lq/IG  T 3 L4 {[ c4JqI 

4l1;1( — [10] 

(i) thi (6) €fl{ct. rr 

(2) Ic-1qc1 (7) cii*ci1cpcii m 11iTT1T 

(3) \3kI)'ic1l (8) 

(4) -Ru1Iic1 (9) ccp[cp 

(5) {cp'u (10) i1lc ffl 

l T. 04 11T-1T tR iIRci ct c4j's.4I 3Ii11 c1ri [10] 

(i) 31Ic?lz1'lI3t *  t rr T cj 

(2)  

(3) icii-.i'i it -ii.u11  ciI'1I 

(4) 1iii cp fQ1- T * 

(5) 1ii-i c'i ctI cce1 1iii 

[55- Translation from English to Hindi Page 4 of 4 
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Translation from English to Urdu & from Urdu to English 
 3j 

Time: 3 Hours 

-iiii : 3 
Maximum Marks: 100 

&E15 :100 

Special Instruction 
11i 3i 

Note - Attempt all Questions. Marks carried by each question are indicated at the end. 

- MI 6'J I Mv-I * 3T Ir.TftT 3flr i 

Part — I 
(Translation from English to Urdu) 

Translate into Urdu - [30] 

The Indian Administrative Services (lAS) officers who do not bother to comply with court 
orders should be stripped of their lAS cadre, the Madras High Court said on Saturday. 
"Officers who are least bothered about the orders of this court and are not doing their duty 
must be shown the door as it amounts to dishonesty in their duty", said the division bench. 
The bench made the observations in view of delay by the authorities in deciding 
applications and appeals. 

Translate into Urdu explaining separately the expressions in Italicized. [10] 
The National Company Law  Tribunal has imposed a stay on  the orders passed by  the fair 

trade regulator slapping penalties  on several  beer makers that faces a five of crores. 

Passing an interim order bench has directed  the parties to deposit  10% of the penalty  by 
way of Fixed Deposit. 
Translate the following clichés and expressions into Urdu - [10] 

(1) All is well that ends well 

(2) Practice makes a man perfect 

(3) Old is gold 

(4) Running rough weather 

(5) Jack of all trades 

(6) Kill two birds with one hand 

(7) Hue and cry 

(8) Pros and cons 

(9) Nip in the bud 

(10) Null and void 

[56- Translation from English to Page 1 of 3 111111111 IIII II IIIIIIII U II 
Urdu & from Urdu to English] 
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Part—Il 

(Translation from Urdu to English) 

Translate from Urdu to English Translate into English - [30] 

_/)L) 

L j;JnM 

1&,&r,-- J)' L 6L- 

4)JkJ?L) j1 

-~ 

— ikL jj,Yi 

-—- 
L,iL_1  

-'- 

Translate these official terminologies and expressions into English - [10] 

4 

[56- Translation from English to Page 2 of 3 
Urdu & from Urdu to English] 

lII II III II IIIIIIII II IU 

1.  

2.  



QCAJBC : RRMT-56 
3. Translate the idioms, expressions and clichés into English - [10] 

Lhir (r) th (i) 
;tdr (iv) (r) 

() tir (A) 

L_• (A) uAJ, (L) 

LiLL4çf 0.) eJL (q) 

[56- Translation from English to Page 3 of 3 
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